
MATHS

BOOKS - BEYOND PUBLICATION

CO-ORDINATE GEOMETRY

Example

1. Find the distance covered by the knight in

eanch of its 8 moves i.e., find the distance of A ,

B , C , D , E , F , G and H from the origin. (AS5)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iZuTq8uGUFxY


Watch Video Solution

2. What is the distance between two points H

and C ?And find the distance between two

points A and B 

Watch Video Solution

(AS1)

3. Where do these following points lie ( - 4 , 0) ,

(2 , 0) , ( 6 , 0) , ( - 8,0) on coordi- nate plane ?

(AS3)

https://dl.doubtnut.com/l/_iZuTq8uGUFxY
https://dl.doubtnut.com/l/_Sxdsdw7b60aH
https://dl.doubtnut.com/l/_6uqYpdn5DKYE


Watch Video Solution

4. What is the distance between points ( - 4 ,

0) and ( 6 , 0) on coordinate plane ?

Watch Video Solution

5. Find the distance between the following

points . 

(3,8)(6,8).

Watch Video Solution

https://dl.doubtnut.com/l/_6uqYpdn5DKYE
https://dl.doubtnut.com/l/_7U8Eg3N2XtXH
https://dl.doubtnut.com/l/_ZeG52SFLTyAh


6. Find the distance between the following

points . 

(-4,-3)(-8,-3)

Watch Video Solution

7. Find the distance between the following

points . 

(3,4) (3,8)

Watch Video Solution

https://dl.doubtnut.com/l/_69WFIBFOQzXy
https://dl.doubtnut.com/l/_RUmPfbFegEQs
https://dl.doubtnut.com/l/_9absoVKKBj3b


8. Find the distance between the following

points . 

(-5,-8) (-5,-12)

Watch Video Solution

9. Find the distance between the following

points . 

A = ( 2 , 0) and B ( 0 , 4) 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_9absoVKKBj3b
https://dl.doubtnut.com/l/_ZeABxAOlbH9h
https://dl.doubtnut.com/l/_5hChDvLzsQ8q


10. Find the distance between the following

points . 

P ( 0 , 5) and Q ( 12 , 0) .

Watch Video Solution

11. Find the distance between the following

pair of points . 

(7 , 8) and ( - 2 , 3)

Watch Video Solution

https://dl.doubtnut.com/l/_5hChDvLzsQ8q
https://dl.doubtnut.com/l/_7PbqbNuuepgQ


12. Find the distance between the following

pair of points: (-8, 6) and (2, 0)

Watch Video Solution

13. Where so these following points lie- ( 0 , - 3)

, (0 , -8) , ( 0 , 6) , (0 , 4) on coordi- nate plane ?

Watch Video Solution

(AS3)

https://dl.doubtnut.com/l/_jQ1MJ9P61DAK
https://dl.doubtnut.com/l/_VAwGG0H91VXx


14. What is the distance between ( 0 , -3) , ( 0 , -

8) and justify that the distance between two

points on Y - axis is  on coordinate

plane ? 

Watch Video Solution

|y2 − y2|

(AS1, AS3)

15. Find the distance between points 'O' (

origin ) and 'A' (7 , 4) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_2ra7mzHX3fOZ
https://dl.doubtnut.com/l/_eydxRlNpZOqJ
https://dl.doubtnut.com/l/_zJl9S1zy8M9L


16. Find the distance between A(1 , - 3) and B( -

4 , 4 ) and rounded to two decimals . 

Watch Video Solution

(AS1)

17. How will you find the distance between two

points in which x or y coordinates are same

but not zero like (2, 4) and (2, 9) ?

Watch Video Solution

https://dl.doubtnut.com/l/_zJl9S1zy8M9L
https://dl.doubtnut.com/l/_NDyaRDFEW2NI


18. Ramu says the distance of a point P(x.y)

from the origin O(0,0) is  . Do you

agree with Ramu or not ? Why ? 

Watch Video Solution

√x2 + y2

(AS2, AS3)

19. Ramu also writes the distance formula as 

 why ?

Watch Video Solution

AB = √(x1 − x2)2 + (y1 − y2)2 ⋅

https://dl.doubtnut.com/l/_WhOZRe5fBgV4
https://dl.doubtnut.com/l/_lm5nL4g7Uau0


20. Sridhar calculated the distance between T (

5 , 2) and ( R ( - 4 , - 1) to the nearest tenth is 9 .

5 units . Now you find the distance between P (

4 , 1) and Q ( - 5 , - 2) . Do you get the same

answer that Sridhar got ? Why ? 

Watch Video Solution

(AS2, AS3)

21. What is the distance between A ( 4 , 0) and

B ( 8 , 0) ?

Watch Video Solution

https://dl.doubtnut.com/l/_1Jdo38eqdx08
https://dl.doubtnut.com/l/_3LA5ZseQ0pxc


22. A and B are two points given by ( 8 , 3 ) , ( -

4, 3) . Find the distance between A and B .

Watch Video Solution

23. Find the distance between two points A ( 4

, 3) and B ( 8 , 6) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_3LA5ZseQ0pxc
https://dl.doubtnut.com/l/_vIwLojmFUAjC
https://dl.doubtnut.com/l/_5sXl1Nvv6pVq


24. Show that the points A = ( 4 , 2) , B ( 7 , 5)

and C ( 9 , 7) are collinear.

Watch Video Solution

25. Are the points ( 3 , 2) , ( - 2 , - 3) and ( 2 , 3)

form a triangle ? 

Watch Video Solution

(AS2)

https://dl.doubtnut.com/l/_AjdAnMrXwXnG
https://dl.doubtnut.com/l/_p1lfBmuqYnki


26. Show that the points ( 1 , 7) , ( 4 , 2) , ( - 1 ,

-1) and ( - 4 , 4) are vertices of a square . 

Watch Video Solution

(AS2)

27. Figure shows the arrangement of desks in

a classroom. Madhuri, Meena , Pallavi are

seated at A ( 3 , 1) , B ( 6 , 4) and C ( 8 , 6)

respectively. Do you think they are seated in a

https://dl.doubtnut.com/l/_mMkIB3AHmyt4
https://dl.doubtnut.com/l/_kuq2FSNj2maJ


line ? Give reasons for your .  

Watch Video Solution

(AS2)

28. Find the relation between x and y such that

point ( x , y) is equidistant from the points ( 7 ,

https://dl.doubtnut.com/l/_kuq2FSNj2maJ
https://dl.doubtnut.com/l/_hm7RcBqzxDi5


1) and (3 , 5) .

Watch Video Solution

29. Find a point on the Y-axis which is

equidistant from both the points. A(6, 5) and

B(-4, 3).

Watch Video Solution

30. Find the distance between the following

pair of points . 

https://dl.doubtnut.com/l/_hm7RcBqzxDi5
https://dl.doubtnut.com/l/_8avq7et206Aa
https://dl.doubtnut.com/l/_0W4b6M9Di3Op


( 2 , 3) and ( 4 , 1) 

Watch Video Solution

(AS1)

31. Find the distance between the following

pair of points. 

( - 5 , 7) and ( - 1 , 3)

Watch Video Solution

https://dl.doubtnut.com/l/_0W4b6M9Di3Op
https://dl.doubtnut.com/l/_Xasuulmt0JrB


32. Find the distance between the following

pair of points . 

( - 2 , -3) and ( 3 , 2)

Watch Video Solution

33. Find the distance between the following

pair of points . 

( a , b) and ( - a , - b)

Watch Video Solution

https://dl.doubtnut.com/l/_2K3DqzDlq0VF
https://dl.doubtnut.com/l/_8NV1vMZufNNH
https://dl.doubtnut.com/l/_HL1qhI5Gusje


34. Find the distance between the points ( 0,

0) and ( 36, 15) . 

Watch Video Solution

(AS1)

35. Verify that the points ( 1 , 5) , (2 , 3) and ( - 2

, -1) are collinear or not . 

Watch Video Solution

(AS2)

https://dl.doubtnut.com/l/_HL1qhI5Gusje
https://dl.doubtnut.com/l/_GFg2z3XWwwcA
https://dl.doubtnut.com/l/_G5jEUEZzNt0e


36. Check whether ( 5 , -2) , ( 6 , 4) and ( 7 , -2)

are the vertices of an isosceles traingle .

Watch Video Solution

37. In a classroom, 4 friends are seated at the

points A,B,C and D as shown in figure. Jarina

and Phani walk into the class and after

observing for a few minutes Jarina asks Phani

"Don't you think ABCD is a square?" Phani

disagrees. Using distance formula. Find which

https://dl.doubtnut.com/l/_G5jEUEZzNt0e
https://dl.doubtnut.com/l/_HSTO5m52coGR


of them is correct. Why? 

Watch Video Solution

38. Show that the following points form an

equilateral triangle A( a , 0) , 

 

B ( -a,0) ,  .

Watch Video Solution

(AS2)

C(0, a√3)

https://dl.doubtnut.com/l/_HSTO5m52coGR
https://dl.doubtnut.com/l/_8xCSfYLJUxFW


39. Prove that the points ( - 7 , - 3) , ( 5 , 10) , (

15 , 8) and ( 3 , - 5) taken in order are the

corners of a parallelogram . 

Watch Video Solution

(AS2)

40. Show that the points ( - 4 , -7) , ( - 1 , 2) , ( 8 ,

5) and ( 5 , -4) taken in order are the vertices of

a rhombus. And find its area. 

https://dl.doubtnut.com/l/_LJNqu5rEkyHL
https://dl.doubtnut.com/l/_ARTfvMk4DOX6


(Hint : Area of rhombus  pro-duct of

its diagonals ) 

Watch Video Solution

= ×
1

2

(AS2, AS4)

41. Name the type of quadrilateral formed, if

any, by the points, and give reasons for your

answer. 

(-3, 5), (3, 1), (1, -3), (-5, 1)

Watch Video Solution

https://dl.doubtnut.com/l/_ARTfvMk4DOX6
https://dl.doubtnut.com/l/_8Sk3wz6zu0et


42. Name the type to quadrilateral formed, if

any , by the following points, and give reasons

for your answer.  

( - 3 , 5), ( 1 , 10) , ( 3 , 1) , ( - 1, -4) .

Watch Video Solution

(AS2)

43. Name the type of quadrilateral formed, if

any, by the points, and give reasons for your

answer. 

(4, 5), (7, 6), (4, 3), (1, 2)

https://dl.doubtnut.com/l/_wC65DbSoI4HP
https://dl.doubtnut.com/l/_Ya9w11YAPMrQ


Watch Video Solution

44. Find the point on the X - axis which is

equidistant from ( 2 , -5) and ( - 2 , 9). 

Watch Video Solution

(AS1)

45. If the distance between two points ( x , 7)

and ( 1 , 15) is 10, find the value of x . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_Ya9w11YAPMrQ
https://dl.doubtnut.com/l/_W3fcxXRrzEip
https://dl.doubtnut.com/l/_H8Umc3jDres1
https://dl.doubtnut.com/l/_cW4OWGBEgFWM


46. Find the value of y for which the distance

between the points P( 2 , -3) and Q ( 10, y) is 10

units. 

Watch Video Solution

(AS1)

47. Find the radius of the circle whose centre

is ( 3 , 2) and passes through ( - 5 , 6) . 

Watch Video Solution

(AS4)

https://dl.doubtnut.com/l/_cW4OWGBEgFWM
https://dl.doubtnut.com/l/_fZosxAu41bXd


48. Can you draw a triangle with vertices ( 1 , 5)

, ( 5 , 8) and ( 13 , 14) ? Give reason . 

Watch Video Solution

(AS2)

49. Find a relation between x and y such that

the point ( x , y) is equi-distant from the points

( - 2 , 8) and ( - 3 , - 5) . 

Watch Video Solution

(AS3)

https://dl.doubtnut.com/l/_PaOyTWtwCMbu
https://dl.doubtnut.com/l/_QXSJSjDW68Zi


50. Find the coordinates of the point which

divides the line segment join- lng the points (

4 , - 3) and ( 8 , 5) in the ratio 3 : 1 internally .

Watch Video Solution

(AS1)

51. Find the midpoint of the line segment

joining the points ( 3 ,0) and ( - 1 , 4) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_DHAT5Vjfd686
https://dl.doubtnut.com/l/_TTXSJSGs7PAm
https://dl.doubtnut.com/l/_Y8AV6fpOoHXq


52. Find the coordinates of the points of

trisection of the line segment joining the

points A( 2 , -2) and B( - 7 , 4) . 

Watch Video Solution

(AS1)

53. Find the centroid of the triangle whose

vertices are ( 3 , - 5) , ( - 7 , 4) , ( 10 , - 2)

respectively . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_Y8AV6fpOoHXq
https://dl.doubtnut.com/l/_xqgbtQlX89AJ
https://dl.doubtnut.com/l/_3rwGVaYM3mbE


54. In what ratio does the point ( - 4 , 6) divide

the line segment joining the points A ( - 6 , 10)

and B ( 3 , - 8) ? 

Watch Video Solution

(AS1)

55. Find the ratio in which the Y - axis divides

the line segment joining the points ( 5 , -6) and

( - 1 , - 4) . Also find the point of intersection

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_3rwGVaYM3mbE
https://dl.doubtnut.com/l/_2pCdinjOSriT
https://dl.doubtnut.com/l/_YfCXfLHJ6Yhu


56. Show that the points A(7 , 3) , B (6 , 1) , C ( 8

, 2) and D ( 9 , 4) taken in that order are

vertices of a parallelogram . 

Watch Video Solution

(AS2)

57. If the points A ( 6 , 1) , B ( 8 , 2) , C ( 9 , 4)

and D ( p, 3) are the vertices of a par -

allelogram , taken in order , find the value of P.

Watch Video Solution

https://dl.doubtnut.com/l/_YfCXfLHJ6Yhu
https://dl.doubtnut.com/l/_HSJeKXvDBieZ
https://dl.doubtnut.com/l/_uqqksTxfZ8ar


58. Find the point which divides the line

segment joining the points ( 3 , 5) and ( 8 , 10)

internallly in the ratio 2 : 3 . 

Watch Video Solution

(AS1)

59. Find the midpoint of the line segment

joining the points ( 2 , 7) and ( 12 , - 7) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_uqqksTxfZ8ar
https://dl.doubtnut.com/l/_xpR9Sxs4lNh8


60. Find the trisectional points of line joining(

2 , 6) and ( - 4 , 8) . 

Watch Video Solution

(AS1)

61. Find the coordinates of the point which

divides the line segment join-ing the points ( -

1 , 7) and ( 4 , - 3) in the ratio 2 : 3 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_gM8ZeT8OGlYd
https://dl.doubtnut.com/l/_oPAA7CGEY9mH


62. Find the points of trisection of the line

segment joining (2,3) and (11,6).

Watch Video Solution

63. Find the ratio in which the line segment

joining the point ( - 3 , 10) and ( 6 , -8) is

divided by ( - 1 , 6). 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_vep3JDQOgeNo
https://dl.doubtnut.com/l/_TIdKbI5fKpTR


64. If ( 1 , 2) , ( 4 , y) , ( x , 6) and ( 3 , 5) are the

vertices of a parallelogram taken in order, find

x and y . 

Watch Video Solution

(AS4)

65. Find the coordinates of a point A , where

AB is the diameter of a circle whose centre is (

2 , - 3) and B is ( 1 , 4) . 

Watch Video Solution

(AS4)

https://dl.doubtnut.com/l/_4T8eXlccaBEf
https://dl.doubtnut.com/l/_CYDRYcreVDD9
https://dl.doubtnut.com/l/_QbibdvJ7vp0T


66. If A and B are ( - 2 , - 2) and ( 2 , - 4)

respectively . Find the coordinates of P such

that AP  AB and P lies on the segment AB

. 

Watch Video Solution

=
3

7

(AS1)

67. Find the coordinates of points which divide

the line segment joining A ( - 4 , 0) and B(0 , 6)

into four equal parts . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_QbibdvJ7vp0T
https://dl.doubtnut.com/l/_DqTlPqSnuTnt


68. Find the area of the triangle formed by the

following points 

( 2 , 0) , ( 1 , 2) , ( 1 , 6)

Watch Video Solution

69. Find the area of the triangle formed by the

following points 

( 3 , 1) , ( 5 , 0) , ( 1 , 2)

Watch Video Solution

https://dl.doubtnut.com/l/_ylOvkkEvWxQr
https://dl.doubtnut.com/l/_OSqjIotlynfa
https://dl.doubtnut.com/l/_cGzqoJwbzBu6


70. Find the area of the triangle formed by the

following points 

( - 1 , 5 , 3) , ( 6 , 2) , ( - 3 , 4)

Watch Video Solution

71. Find the area of the triangle whose vertices

are: (5, 2) (3, -5) and (-5, -1).

Watch Video Solution

https://dl.doubtnut.com/l/_cGzqoJwbzBu6
https://dl.doubtnut.com/l/_CXMwlmhFVCbu


72. Find the area of the triangle whose vertices

are 

( 6 , -6) , ( 3 , - 7) and ( 3 , 3) .

Watch Video Solution

73. Verify whether the following points are

collinear or not . 

( 1 , -1) , ( 2 , 3) , ( 2 , 0)

Watch Video Solution

https://dl.doubtnut.com/l/_rpcV4ZRd4ugA
https://dl.doubtnut.com/l/_tLbTXl8NzvtV
https://dl.doubtnut.com/l/_d4Tndbk54bQv


74. Verify whether the following points are

collinear or not . 

( 1 , -1) , ( 2 , 3) , ( 2 , 0)

Watch Video Solution

75. Verify whether the following points are

collinear or not . 

( 1 , -6) , ( 3 , -4) , ( 4 , - 3) .

Watch Video Solution

https://dl.doubtnut.com/l/_d4Tndbk54bQv
https://dl.doubtnut.com/l/_FbW5hfx3HHNL
https://dl.doubtnut.com/l/_lbj1nWDzYltF


76. Find the area of the triangle whose lengths

of sides are 15 m , 17 m , 21 m ( use Heron 's

Formula ) 

Watch Video Solution

(AS1, AS2)

77. Find the area of the triangle formed by the

points ( 0 , 0) , ( 4 , 0) ,( 4 , 3) by unsing Heron's

formula . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_lbj1nWDzYltF
https://dl.doubtnut.com/l/_o1ja1AcExsF5


78. Find the area of a triangle whose vertices

are ( 1 , -1) , ( - 4 , 6) and ( - 3 , -5) . 

Watch Video Solution

(AS1)

79. Find the area of a triangle formed by the

points A(5 , 2) , B ( 4 , 7) and C ( 7 , -4) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_TxsAyTt5tp5Q
https://dl.doubtnut.com/l/_MKG1xcBmnBbs


80. If A(-5,7),B(-4,-5),C(-1,-6) and D(4,5) are the

vertics of a quadrilateral. Then, find the area of

the quadrilateral ABCD.

Watch Video Solution

81. The points ( 3 , - 2) , (- 2 , 8) and ( 0 ,4) are

three points in a plane . Show that these

points are collinear . 

Watch Video Solution

(AS2)

https://dl.doubtnut.com/l/_30VNM4Luzxa5
https://dl.doubtnut.com/l/_ANdzynGdJSre
https://dl.doubtnut.com/l/_poExstwBnD91


82. Find the value of ‘b’ for which the points

A(1, 2), B(-1, b) and C(-3, -4) are collinear .

Watch Video Solution

83. Find the area of the triangle whose vertices

are: (2, 3), (-1, 0), (2, -4)

Watch Video Solution

https://dl.doubtnut.com/l/_poExstwBnD91
https://dl.doubtnut.com/l/_KaBBWACS0a6Z


84. Find the area of the triangle whose

vertices are: (5, 2) (3, -5) and (-5, -1).

Watch Video Solution

85. Find the area of the triangle whose vertices

are  

(0 , 0) , (3 , 0) , (0 , 2)

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_XGiHRBh5VAoO
https://dl.doubtnut.com/l/_ScPWoQo90yju


86. Find the valueof 'K' for which the points are

collinear.  

(7 , -2) , (5 , 1), (3 , K)

Watch Video Solution

(AS1)

87. Find the value of 'K' for which the points

are collinear .  

( 8 , 1) , (K , -4), ( 2 , - 5)

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_ia6KlBg2BXJV
https://dl.doubtnut.com/l/_nLASy3yiPsMJ
https://dl.doubtnut.com/l/_s9ttodkAsvG0


88. Find the value of 'K' for which the points

are collinear .  

(K , K) ,( 2 , 3) and ( 4 , -1)

Watch Video Solution

(AS1)

89. Find the area of the triangle formed by

joining the mid-points of the sides of the

triangle whose vertices are ( 0 , - 1) , ( 2 , 1) and

( 0 , 3) . Find the ratio of this area to the area

of the given triangle . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_s9ttodkAsvG0
https://dl.doubtnut.com/l/_ntO4Qn6FihJL


90. Find the area of the quadrilateral whose

vertices taken inorder are ( - 4 , - 2) , ( - 3 , - 5) , (

3 , - 2) and ( 2 , 3) 

Watch Video Solution

(AS1)

91. Find the area of the triangle formed by the

points (8,-5),(-2,-7) & (5,1) by using Hero's

formula.

Watch Video Solution

https://dl.doubtnut.com/l/_ntO4Qn6FihJL
https://dl.doubtnut.com/l/_rDrcXjuoRBMF
https://dl.doubtnut.com/l/_PCDDaRct87HR


92. Plot these points on the coordinate axis

and join them  

which gives a straight line ? Which in not why

? 

A ( 1 , 2) , B ( - 3 , 4) , C ( 7 , -1)

Watch Video Solution

(AS3)

93. Plot these points on the coordinate axis

and join them  

which gives a straight line ? Which in not why

(AS3)

https://dl.doubtnut.com/l/_PCDDaRct87HR
https://dl.doubtnut.com/l/_BYz47a6OiTJh
https://dl.doubtnut.com/l/_6bHHOqsNvuYe


? 

P( 3 , - 5) , Q ( 5 , -1) R( 2 , 1) , S ( 1 , 2)

Watch Video Solution

94. Find the slope of  with the given end

points 

A ( 4 , - 6) , B ( 7 , 2)

Watch Video Solution

 ⇐⇒
AB

https://dl.doubtnut.com/l/_6bHHOqsNvuYe
https://dl.doubtnut.com/l/_46WtLBOsIucz


95. Find the slope of  with the given end

points 

A (8 , - 4) , B ( - 4 , 8)

Watch Video Solution

 ⇐⇒
AB

96. Find the slope of  with the given end

points 

A ( - 2 , - 5) , B ( 1 , - 7)

Watch Video Solution

 ⇐⇒
AB

https://dl.doubtnut.com/l/_8MlaRoOtr1Rh
https://dl.doubtnut.com/l/_pfnpd6ByGcq0
https://dl.doubtnut.com/l/_48oQQjiFX4Vx


97. Does y = x + 7 represent a straight line ?

Draw the line on the coordinate plane . At

which point does this line intersect Y-axis ? 

How much angle does it make with X - axis ?

Discuss with your friends . 

Watch Video Solution

(AS3, AS5)

98. Find the slope  with the points lying

on A ( 3 , 2) , (B ( - 8 , 2) . When the line 

parallel to X - axis ? Why ? Think and discuss

with your friends in groups . 

 ⇐⇒
AB

 ⇐⇒
AB

(AS2, AS3)

https://dl.doubtnut.com/l/_48oQQjiFX4Vx
https://dl.doubtnut.com/l/_2s7HJDZs86hW


Watch Video Solution

99. Find the slope of  with the points

lying on  

A ( 2 , 1) , B ( 2 , 6)

Watch Video Solution

 ⇐⇒
AB

(AS1)

100. Find the slope of  with the points

lying on  

A( - 4 , 2) , B ( - 4 , - 2) `

 ⇐⇒
AB

(AS1)

https://dl.doubtnut.com/l/_2s7HJDZs86hW
https://dl.doubtnut.com/l/_Ao4Le0NpM90u
https://dl.doubtnut.com/l/_sSsw9xU1YNK4


Watch Video Solution

101. Find the slope of  with the points

lying on  

A ( - 2 , 8) , B ( - 2 , - 2)

Watch Video Solution

 ⇐⇒
AB

(AS1)

102. The end points of a line segment are ( 2 ,

3) , ( 4 , 5) . Find the slope of the line

Watch Video Solution

https://dl.doubtnut.com/l/_sSsw9xU1YNK4
https://dl.doubtnut.com/l/_ZkmBRShBVSRO
https://dl.doubtnut.com/l/_Zzqpe6Xi69NW


103. Determine 'x' so that 2 is the slope of the

line passing through A (-2, 4) and B(x, -2).

Watch Video Solution

104. Find the slope of the line passing through

the given two point 

A(3, -2), B(-6, -2)

Watch Video Solution

https://dl.doubtnut.com/l/_8nM1ZcdA1c3Y
https://dl.doubtnut.com/l/_TFxZ7gntasPh


105. Find the slope of the line joining the two

given points  

( 2a , 3b) and ( a , - b) .

Watch Video Solution

(AS1)

106. Find the slope of the line joining the two

given points  

(a , 0) and ( 0 , b) .

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_ZO65h7qzwBCK
https://dl.doubtnut.com/l/_bLfpoOIvNsdt
https://dl.doubtnut.com/l/_t8JEwtXrHz5C


107. Find the slope of the line joining the two

given points  

A( - 1.4 , - 3 . 7) , B ( - 2 . 4 , 1 . 3) .

Watch Video Solution

(AS1)

108. Find the slope of the line passing through

the given two point 

A(3, -2), B(-6, -2)

Watch Video Solution

https://dl.doubtnut.com/l/_t8JEwtXrHz5C
https://dl.doubtnut.com/l/_gC1WBG0Y2oSf
https://dl.doubtnut.com/l/_eXag7KpLmexz


109. Find the slope of the line joining the two

given points  

.

Watch Video Solution

(AS1)

A( − 3 , 3), B( − 7, 2 )
1

2

1

2

110. Find the slope of the line joining the two

given points  

A(0 , 4) , B ( 4 , 0)

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_eXag7KpLmexz
https://dl.doubtnut.com/l/_MKEyiXPiGskE


111. Centre of a circle Q is on the Y-axis. The

circle passes through the points (0, 7) and (0,

-1). If it intersects the positive X-axis at (P, 0),

what is the value of ‘P’?

Watch Video Solution

112. The circumcenter of the triangle formed

by the point (1,2,3) (3,-1,5), (4,0,-3) is

Watch Video Solution

https://dl.doubtnut.com/l/_roDlsvSSbqtg
https://dl.doubtnut.com/l/_UQMyOkw1BH1Y
https://dl.doubtnut.com/l/_s0hVquN3USBf


113. The side BC of an equilateral  is

parallel to X - axis . Find the slopes of line

along sides BC , CA and AB .

Watch Video Solution

ΔABC

114. A right triangle has sides 'a' and 'b' where

a>b . If the right angle is bisected then find the

distance between orthocentres of the smaller

triangles using coordinate geometry.

Watch Video Solution

https://dl.doubtnut.com/l/_s0hVquN3USBf
https://dl.doubtnut.com/l/_meRkdDlmJ44m


115. Find the centroid of the triangle formed

by the line 2 x + 3 y - 6 = 0 with the coordinate

axes .

Watch Video Solution

116. Where do the points ( 0 , - 3) and ( - 8 , 0)

lie on co-ordinate axis ?

Watch Video Solution

https://dl.doubtnut.com/l/_vFjlTmzIK6LA
https://dl.doubtnut.com/l/_GNnZRvw4f84G


117. Find the centroid triangle whose ver-tices

are ( 3 , 4) ( - 7 , - 2) and ( 10 , - 5) .

Watch Video Solution

118. Show that the points A = ( 4 , 2) , B ( 7 , 5)

and C ( 9 , 7) are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_RuVQsct9Z3HW
https://dl.doubtnut.com/l/_uCTa08Y0Uqa4


119. Name the type of the quadrilateral formed

by joining the points A(- 1 , - 2) B ( 1 , 0) , C( - 1 ,

2) and D( - 3 , 0) are graph paper , justify your

answer .

Watch Video Solution

120. Find the mid point of the line segment

formed by the points ( - 5 , 5) and ( 5 , - 5) .

Watch Video Solution

https://dl.doubtnut.com/l/_YDQD16i4bHae
https://dl.doubtnut.com/l/_hqTVGDSz7VWw
https://dl.doubtnut.com/l/_D9jqNbkwoHQo


121. Show that the points A(-3,3)B(0,0) C(3,-3)

are collinear.

Watch Video Solution

122. Find the trisection points of the line

segment joined by the points ( - 3 , 3) and (3 , -

3).

Watch Video Solution

https://dl.doubtnut.com/l/_D9jqNbkwoHQo
https://dl.doubtnut.com/l/_iABMYRJkQshR


123. Find the distance between the following

pairs of points. 

(3,4) and (6,2)

Watch Video Solution

124. Find the distance between the following

pairs of points. 

(-4,6) and (0,2)

Watch Video Solution

https://dl.doubtnut.com/l/_jmPHsZZR9wZt
https://dl.doubtnut.com/l/_5Y9tgY2TVAYX
https://dl.doubtnut.com/l/_Ph0tvDxYWbko


125. Find the distance between the following

pairs of points. 

(-a,b) and (a,-b)

Watch Video Solution

126. Verify whether the points A(1,3), B(3,5) and

C(-4,20) are collinear or not.

Watch Video Solution

https://dl.doubtnut.com/l/_Ph0tvDxYWbko
https://dl.doubtnut.com/l/_PmzN5u3DNgWl


127. Show that (5,3),(1,2) and (-3,1) are the

vertices of an isosceles triangle.

Watch Video Solution

128. Show that the points (0,-2),(3,2),(0,6) and

(-3,2) are the vertices of a square.

Watch Video Solution

https://dl.doubtnut.com/l/_b2hSjHPk98zB
https://dl.doubtnut.com/l/_P3Q0usq3Lj1f


129. Show that points (2,4),(3,7),(6,8) and (5,5)

are the vertices of a Rhombus.

Watch Video Solution

130. Find the co-ordinates of the point which

divides the line segment joining the points

(-2,6) and (3,-4) in the ratio 3:5.

Watch Video Solution

https://dl.doubtnut.com/l/_aOopup7VjZvj
https://dl.doubtnut.com/l/_cTrlDwl7tTDR


131. Find the ratio in which the X-axis divides

the line segment joining the points (6,-2) and

(4,1) also find the point of intersection.

Watch Video Solution

132. Find the ratio in which the Y-axis divides

the line segment joining the points (9,-4) and

(3,-2) .Also find the point of intersection.

Watch Video Solution

https://dl.doubtnut.com/l/_6Nq27qm2K8F4
https://dl.doubtnut.com/l/_u9i7dx33O0LG
https://dl.doubtnut.com/l/_Pfuv2LG78OpH


133. Find the centroid of the triange whose

vertices are given below 

(1,6),(7,4),(1,5)

Watch Video Solution

134. Find the centroid of the triange whose

vertices are given below 

(1,0),(-3,-3),(-4,-3)

Watch Video Solution

https://dl.doubtnut.com/l/_Pfuv2LG78OpH
https://dl.doubtnut.com/l/_fuxUYb9wByS9
https://dl.doubtnut.com/l/_lMsqnbK57DVU


135. Find the area of the triangle whose

vertices are 

(3,4),(0,10),(3,-3)

Watch Video Solution

136. Find the area of the triangle whose

vertices are 

(2,10),(4,7),(0,-1)

Watch Video Solution

https://dl.doubtnut.com/l/_lMsqnbK57DVU
https://dl.doubtnut.com/l/_kEvrcom1Kh60


137. Find the value of 'k' for which the points

are collinear. 

(k,9),(7,7),(1,5)

Watch Video Solution

138. Find the value of 'k' for which the points

are collinear. 

(6,-1),(k,-6),(0,-7)

Watch Video Solution

https://dl.doubtnut.com/l/_ckzYald8nD4k
https://dl.doubtnut.com/l/_ELOurTu2T9Tf
https://dl.doubtnut.com/l/_9t7zlM3XhBEt


139. Find the value of 'k' for which the points

are collinear. 

(k,k),(1,2),(3,-2)

Watch Video Solution

140. Find the slope of the line joining the

points. 

(7,-5) and (8,1)

Watch Video Solution

https://dl.doubtnut.com/l/_9t7zlM3XhBEt
https://dl.doubtnut.com/l/_GMf7yTV19ZFw
https://dl.doubtnut.com/l/_ckgVT3BX6E5G


141. Find the slope of the line joining the

points. 

(4a,6b) and (a,-b)

Watch Video Solution

142. Find the slope of the line joining the

points. 

(5,-1) and (-8,0)

Watch Video Solution

https://dl.doubtnut.com/l/_ckgVT3BX6E5G
https://dl.doubtnut.com/l/_2xybP9lIlO53


143. Find the slope of a line whose inclination

is 

Watch Video Solution

60∘

144. Find the slope of a line whose inclination

is 

Watch Video Solution

135∘

https://dl.doubtnut.com/l/_MYHAvOGILcEn
https://dl.doubtnut.com/l/_NeK3CY3TiMGA
https://dl.doubtnut.com/l/_AKouSbrEfJyM


145. Find the slope of the line whose

inclination is 

Watch Video Solution

120∘

146. Find the slope of a line whose inclination

is 

Watch Video Solution

135∘

https://dl.doubtnut.com/l/_AKouSbrEfJyM
https://dl.doubtnut.com/l/_odqZyTrY6EaE
https://dl.doubtnut.com/l/_iApQ5w0pXfhY


147. If (6,7) is the mid point of the line segment

joining A(7,6) and B(5,y) , find 'y'.

Watch Video Solution

148. Find the value of "p" for which the points

are collinear (6,2),(5,-1),(4,p).

Watch Video Solution

149. Find the value of "S" for (7,S),(3,-2) (7,8) are

collinear.

https://dl.doubtnut.com/l/_iApQ5w0pXfhY
https://dl.doubtnut.com/l/_Ttis0rO1C5cc
https://dl.doubtnut.com/l/_5FrRWXWl4sX0


Watch Video Solution

150. Find the distance between (5,6)(-2,3).

Watch Video Solution

151. Find the distance between (-2,3) and (5,-3).

Watch Video Solution

https://dl.doubtnut.com/l/_5FrRWXWl4sX0
https://dl.doubtnut.com/l/_9SC2GKJSOMzG
https://dl.doubtnut.com/l/_mW52xuTSRTRw


152. Find the co-ordionates of the points of

trisection of the line segment joining the

points A(3,-3) and B(-5,2).

Watch Video Solution

153. Find the co-ordinates of the points of

trisection of the line segment joining the

points A(0,5) and B(-3,2).

Watch Video Solution

https://dl.doubtnut.com/l/_r54ybhhC9mrM
https://dl.doubtnut.com/l/_bWIpp2sAyRFh
https://dl.doubtnut.com/l/_xLBMQDsocfnd


154. If A(-2,3)B(-7,-3)C(2,5)D(5,7) are the vertices

of the quadrilateral then find the area of the

quadrilateral ABCD.

Watch Video Solution

155. If A(-3,5)B(6,0)C(5,1)D(-3,2) are the vertices

of the quadrilateral then find the area of the

quadrilateral ABCD.

Watch Video Solution

https://dl.doubtnut.com/l/_xLBMQDsocfnd
https://dl.doubtnut.com/l/_IPjwHZuOokKP
https://dl.doubtnut.com/l/_onEsp79ZoNAX


156. Find the area of the triangle. Whose

lenghts of sides are 14m, 16m, 20m.

Watch Video Solution

157. Find the area of the triangle, whose length

of sides are 21m, 30m, 35m.

Watch Video Solution

158. Find the distance between (3,5) and (7,0).

Watch Video Solution

https://dl.doubtnut.com/l/_onEsp79ZoNAX
https://dl.doubtnut.com/l/_xPp0MpReAa1L
https://dl.doubtnut.com/l/_k0rPEXF6eszm


159. Find the distance between points origin

and (8,5).

Watch Video Solution

160. If distance between (x,5)(4,5) is 36 then

find the value of x.

Watch Video Solution

https://dl.doubtnut.com/l/_k0rPEXF6eszm
https://dl.doubtnut.com/l/_IF5a44UXx190
https://dl.doubtnut.com/l/_V5TYaGKj03XU


161. If A(2,3) B(5,6) C(1,2) are the points of

 then perimenter of .

Watch Video Solution

△ ABC △ ABC

162. Are the points (4,2)(-5,-7) and (2,4) from a

triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_qXuxxFE3PRws
https://dl.doubtnut.com/l/_4GFGmvNI0ucD


163. Are the points (1,8)(2,5)(1,2)(4,4) are the

vertices of a square.

Watch Video Solution

164. Find the area of the triangle formed by

the points (8,-5),(-2,-7) & (5,1) by using Hero's

formula.

Watch Video Solution

https://dl.doubtnut.com/l/_2PkydMZwPWGF
https://dl.doubtnut.com/l/_m4XGXioPKoac


165. Find the trisection points of the line

segment. Joined by the points (-4,4) and (4,-4).

Watch Video Solution

166. Show that (1,-8)(3,6)(2,-1) are collinears.

Watch Video Solution

167. Are the points (1,2),(1,0),(4,3),(5,6) are the

vertices of a rhombus.

https://dl.doubtnut.com/l/_c4Fbj9Knqlqy
https://dl.doubtnut.com/l/_9R3fClg38sQv
https://dl.doubtnut.com/l/_IQkbmPOfH0YO


Watch Video Solution

168. Check whether the points (5,4)(3,6) and

(-2,-1) are the vertices of a right angles

triangle.

Watch Video Solution

169. Can you draw a triangle with vertices

(-2,-2)(4,50(0,11)? Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_IQkbmPOfH0YO
https://dl.doubtnut.com/l/_ewEFSqSkZVcZ
https://dl.doubtnut.com/l/_UALHGvRxfW67


170. Find the slope of the line joining the

points are (8,-2)(5,6).

Watch Video Solution

171. The slope of the line 

Watch Video Solution

+ = 1
x

a

y

b

https://dl.doubtnut.com/l/_UALHGvRxfW67
https://dl.doubtnut.com/l/_CZT6tHHsp0YI
https://dl.doubtnut.com/l/_PvxCvoZKCoSB


172. Find the centroid of  whose

vertices are A(-5,6) B(4,1)C(1,2).

Watch Video Solution

△ ABC

173. If the line y = mx+c passing through the

points (0,3),(4,0) then intercept is

Watch Video Solution

https://dl.doubtnut.com/l/_InzltoSy4yT8
https://dl.doubtnut.com/l/_y1wJucfYKvf7


174. Find the point on the Y-axis which is

equidistant from (-5,-2) and (3,2).

Watch Video Solution

175. Find the value of p for which the points

(P,8),(4,4),(-1,3) are collinear

Watch Video Solution

https://dl.doubtnut.com/l/_LnNX8DZDSxOz
https://dl.doubtnut.com/l/_Qn3QwIGlSSDi


Exercise

176. Find the area of quadrilateral whose co-

ordinates are (1,2),(6,2),(5,3),(3,4).

Watch Video Solution

177. Give any five examples of points on Y-axis

and X-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_3dck4FbYbgD6
https://dl.doubtnut.com/l/_6ixAneCLk8pd
https://dl.doubtnut.com/l/_pkFS5QVnCg5F


1. Find the distance between the following

pairs of points . 

A(-2,5) and B(3,-7)

Watch Video Solution

2. Find the distance between the following

pairs of points . 

A(4,5) and B(-3,2)

Watch Video Solution

https://dl.doubtnut.com/l/_pkFS5QVnCg5F
https://dl.doubtnut.com/l/_GNIdJ7Q4Z96d
https://dl.doubtnut.com/l/_FEr4yxMQDoBC


3. Find the distance between the following

pairs of points . 

A(-1,2) and B(5,0)

Watch Video Solution

4. Find the distance between the following

pairs of points . 

A(6,-4) and B(3,0)

Watch Video Solution

https://dl.doubtnut.com/l/_FEr4yxMQDoBC
https://dl.doubtnut.com/l/_P03jjo97Scdu


5. Find the distance between the following

pairs of points . 

A(5,-12) and B(9,-9)

Watch Video Solution

6. Find the distance between the following

pairs of points . 

A(2,-10) and B(3,4)

Watch Video Solution

https://dl.doubtnut.com/l/_3EU23dWRvpfq
https://dl.doubtnut.com/l/_Ed70qRrJjAIv
https://dl.doubtnut.com/l/_TDlp0NZ6T5zu


7. Show that the following points are collinear. 

(2,4),(0,1),(4,7)

Watch Video Solution

8. Show that the following points are collinear.

(-2,5),(2,-3),(0,1)

Watch Video Solution

https://dl.doubtnut.com/l/_TDlp0NZ6T5zu
https://dl.doubtnut.com/l/_0zjtMfTalIPW


9. Show that the following points are collinear.

(1,-8),(3,6),(2,-1)

Watch Video Solution

10. Show that the following points are

collinear. 

(3,8),(-4,2),(10,14)

Watch Video Solution

https://dl.doubtnut.com/l/_16ecD1jeeznK
https://dl.doubtnut.com/l/_CSaNZzwFbsoW


11. Show that the points (-2,-1),(1,0),(4,3) and

(1,2) are vertices of a parallelogram.

Watch Video Solution

12. Show that the points (1,3),(2,6),(5,7) and

(4,4) are the vertices of a rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_0D0Zbk9hm4ZB
https://dl.doubtnut.com/l/_fiXxG3WVEXhY


13. Show that the points (1,-1),(-2,2),(4,8) and

(7,5) are the vertices of a rectangle.

Watch Video Solution

14. Show that the points (0,-1),(2,1),(0,3),(-2,1)

are the vertices of a square.

Watch Video Solution

https://dl.doubtnut.com/l/_EahvBHNswLU3
https://dl.doubtnut.com/l/_m9f5NSJ7MvsO


15. Can you draw a triangle with vertices (-1,1)

(2,3) and (8,11)? Give reason.

Watch Video Solution

16. Find the point on the Y-axis which is

equidistant from (-5,-2) and (3,2).

Watch Video Solution

https://dl.doubtnut.com/l/_abxzfa0jeEnL
https://dl.doubtnut.com/l/_aqSEoo3QpN3g


17. Find the retation between x and y, If the

point (x,y) is to be equidistant from (6,-1) and

(2,3)

Watch Video Solution

18. Without using the Pythagoras theorem,

show that the points (4,4), (3, 5) and

 are the vertices of a right angled

triangle.

Watch Video Solution

( − 1, − 1)

https://dl.doubtnut.com/l/_CscnZik0d2fZ
https://dl.doubtnut.com/l/_5DudIXbBPvdZ


19. Find the ratio in which the X-axis divided

the line segment joining points (7,-3) and (5,2).

Watch Video Solution

20. Find the ratio in which X-axis divides the

line segment joining the points (2, -3) and (5,

6). Then find the intersecting point on X-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_5DudIXbBPvdZ
https://dl.doubtnut.com/l/_XgzX5UuiXgde
https://dl.doubtnut.com/l/_06EKYFZIFsR3
https://dl.doubtnut.com/l/_OhgbAL0UfnhP


21. Find the co-ordinates of the point which

divides the line joining (5,-2) and (9,6)

internally in the ratio 1:2.

Watch Video Solution

22. Find the centroid of the triangle whose

vertices are given below. 

(-1,4),(5,2),(-1,3)

Watch Video Solution

https://dl.doubtnut.com/l/_OhgbAL0UfnhP
https://dl.doubtnut.com/l/_PYtH6JJ5b5HL


23. Find the centroid of the triangle whose

vertices are given below. 

(5,4),(1,1),(0,1)

Watch Video Solution

24. Find the centroid of the triangle whose

vertices are given below. 

(-1,0),(5,-2),(8,2)

Watch Video Solution

https://dl.doubtnut.com/l/_kZn4LQyzrhUi
https://dl.doubtnut.com/l/_JSLEgETf3ebi
https://dl.doubtnut.com/l/_fxDMSTOlDWsw


25. Find the centroid of the triangle whose

vertices are given below. 

(2,8),(7,3),(-1,-1)

Watch Video Solution

26. Find the area of the triangle whose vertices

are 

(3,4),(7,8),(-1,2)

Watch Video Solution

https://dl.doubtnut.com/l/_fxDMSTOlDWsw
https://dl.doubtnut.com/l/_5ZHydXMSRdXF
https://dl.doubtnut.com/l/_EZFnJw2rzqwS


27. Find the area of the triangle whose vertices

are 

(2,-7),(1,3),(10,8)

Watch Video Solution

28. Find the area of the triangle whose vertices

are 

(1,8),(2,5),(-2,-3)

Watch Video Solution

https://dl.doubtnut.com/l/_EZFnJw2rzqwS
https://dl.doubtnut.com/l/_rSXCbL19NyFs


29. Find the area of the triangle whose vertices

are 

(-2,4),(2,-6),(5,4)

Watch Video Solution

30. Find the value of 'K' for which the points

are collinear. 

(K,7),(5,5),(-1,3)

Watch Video Solution

https://dl.doubtnut.com/l/_Hu8zVf4a05c2
https://dl.doubtnut.com/l/_Rlst2ovMtwl8
https://dl.doubtnut.com/l/_tQPyG7icJzTX


31. Find the value of 'K' for which the points

are collinear. 

(3,8),(-4,2),(K,14)

Watch Video Solution

32. Find the value of 'K' for which the points

are collinear. 

(-1,2),(K,0),(2,1)

Watch Video Solution

https://dl.doubtnut.com/l/_tQPyG7icJzTX
https://dl.doubtnut.com/l/_vQSo3Diuc36Y
https://dl.doubtnut.com/l/_EVenfqeO7SqJ


33. Find the value of 'K' for which the points

are collinear. 

(7,-2),(5,1),(3,2k)

Watch Video Solution

34. Find the area of the quadrilateral whose

vertices taken inorder are ( - 4 , - 2) , ( - 3 , - 5) , (

3 , - 2) and ( 2 , 3) 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_EVenfqeO7SqJ
https://dl.doubtnut.com/l/_H167s81Ywut5


35. Find the area of the quadrilaterals, the co-

ordinates of whose vertices are given below.

(1,2),(6,2),(5,3),(3,4)

Watch Video Solution

36. Find the area of the quadrilaterals, the co-

ordinates of whose vertices are given below.

(2,1),(6,0),(5,-2),(-3,-1).

Watch Video Solution

https://dl.doubtnut.com/l/_tSYgg7aoImZN
https://dl.doubtnut.com/l/_qSlK8l4ovHOL
https://dl.doubtnut.com/l/_DXoCoH3KNtxb


37. Find the area of the quadrilaterals, the co-

ordinates of whose vertices are given below.

(0,0),(a,0),(a,b),(0,b).

Watch Video Solution

38. Find the area of the quadrilaterals, the co-

ordinates of whose vertices are given below.

(1,1),(7,-3),(12,2),(7,21)

Watch Video Solution

https://dl.doubtnut.com/l/_DXoCoH3KNtxb
https://dl.doubtnut.com/l/_hZHgue5QZoUm
https://dl.doubtnut.com/l/_uVRPeQmucrGC


39. Find the slope of the line joining the

points. 

(5,-2) and (-1,4)

Watch Video Solution

40. Find the slope of the line joining the

points. 

(3,5) and (-1,-1)

Watch Video Solution

https://dl.doubtnut.com/l/_uVRPeQmucrGC
https://dl.doubtnut.com/l/_VesKxfnw8KlX


41. Find the slope of the line joining the

points. 

(5,6) and (2,3)

Watch Video Solution

42. Find the slope of the line joining the

points. 

(9,-2) and (6,-5)

Watch Video Solution

https://dl.doubtnut.com/l/_8SRyuWrt8DB6
https://dl.doubtnut.com/l/_6sctiDutm6Xc
https://dl.doubtnut.com/l/_O8IOUjCItQKr


43. Find the slope of the line joining the

points. 

(8,2) and (-5,3)

Watch Video Solution

44. Find the slope of the line joining the

points. 

(4,5) and (0,-2)

Watch Video Solution

https://dl.doubtnut.com/l/_O8IOUjCItQKr
https://dl.doubtnut.com/l/_6uQzrkOL5MWk
https://dl.doubtnut.com/l/_ultk6YS4m73x


45. Find the slope of the line joining the

points. 

(-2,-1) and (4,0)

Watch Video Solution

46. Find the slope of the line joining the

points. 

(4,-6) and (-2,-5)

Watch Video Solution

https://dl.doubtnut.com/l/_ultk6YS4m73x
https://dl.doubtnut.com/l/_grA3OB5LCzAU


47. Find the slope of a line whose inclination is

Watch Video Solution

60∘

48. Find the slope of a line whose inclination is

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_pQTI5lkOyqIh
https://dl.doubtnut.com/l/_wr5Wa88EHuj9


49. Find the slope of a line whose inclination is

Watch Video Solution

90∘

50. Find the slope of a line whose inclination is

Watch Video Solution

150∘

https://dl.doubtnut.com/l/_Ks2cM5LTg4zt
https://dl.doubtnut.com/l/_QjfJfVvdJaOp


51. If (5,6) is the mid point of the line segment

joining A(6,5) and B(4,y), find 'y'.

Watch Video Solution

52. If A(1,2) , B(3,4) and C(6,6) are the three

vertices of a parallelogram ABCD , find the co-

ordinates of the fourth vertex D.

Watch Video Solution

https://dl.doubtnut.com/l/_UA43yQ58b31l
https://dl.doubtnut.com/l/_k8ltKmeL8x9K


53. The scientist who introduced co-ordinate

Geometry is

A. J.J.Sylvester

B. Crames

C. Rene Descartes

D. Newton

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3QtiPvFQj3Cv
https://dl.doubtnut.com/l/_J8R66pGEohyR


54. The distance between the points (x,1) and

(1,y) is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√(x + 1)2 + (y + 1)2

√(1 − x)2 + (y − 1)2

√(x − 1)2 + (y + 1)2

√(x + 1)2 + (y − 1)2

https://dl.doubtnut.com/l/_J8R66pGEohyR


55. A point on Y-axis is

A. (3,0)

B. (1,2)

C. (0,0)

D. (0,3)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_djdUx5rr5Alt


56. The points (0,3) (0,0) (4,0) form a

A. Isosceles triangle

B. Equilateral triangle

C. Right angle triangle

D. Scalene triangle

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_XM33e4JaA7ET


57. The slope of the line joining (4,6) and (2,-5)

is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

11

2

2

11

−
2

11

−
11

2

https://dl.doubtnut.com/l/_BYm8WBa7WRP9
https://dl.doubtnut.com/l/_BVwynDVON3Ow


58. The distance between (7,0) and (4,k) is 5

units then k=

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

−4

±4

+4

https://dl.doubtnut.com/l/_BVwynDVON3Ow


59. A strainght line make angle  with the X-

axis then the slope is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

θ

−sin θ

cos θ

tan θ

sec θ

https://dl.doubtnut.com/l/_m04zshTcxTUi
https://dl.doubtnut.com/l/_rrPbPRNTgB1a


60. Mid-point of the line points (-4,2) and (2,8)

is

A. (-1,5)

B. (-3,-3)

C. (-2,10)

D. (-6,-6)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_rrPbPRNTgB1a


61. (1,2),(2,3),(3,4) are vertices of a traingle then

its centroid is

A. (6,9)

B. (0,-1)

C. (2,3)

D. (-2,-3)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_4KtW76GFbIkC
https://dl.doubtnut.com/l/_LfPXRf1lq9iQ


62. (1,2),(2,3),(3,1) are the midpoints of the sides

of the triangle then the area of the triangle is

(in.sq.units)

A. 7

B. 

C. 14

D. 6

Answer:

Watch Video Solution

5

2

https://dl.doubtnut.com/l/_LfPXRf1lq9iQ
https://dl.doubtnut.com/l/_XXdurTsMVlLY


63. The co-ordinates of the mid point of the

line joining points (3,-1) and (5,3) is

A. (8,4)

B. 

C. (4,2)

D. (4,1)

Answer:

Watch Video Solution

( , )
8

3
4
3

https://dl.doubtnut.com/l/_XXdurTsMVlLY


64. The equation of the line passing through

origin having slope

A. 2x-3y = 0

B. 2y = x

C. 3x-2y = 0

D. 3y-2x

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_CbpDLV5muiDk
https://dl.doubtnut.com/l/_Tf7kAN22hmCY


65. If a line make an angle  with +ve X-axis

then the slope of the line

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

150∘

√3

−
1

√3

−√3

1

√3

https://dl.doubtnut.com/l/_Tf7kAN22hmCY


66. Slope of the line 3x-4y+12=0

A. 

B. 

C. 4

D. 

Answer:

Watch Video Solution

3

4

−
4
3

1

√3

https://dl.doubtnut.com/l/_3tV25lxbbnc3


67. Slope of the line joining points (2,-3)(1,4)

A. 

B. 7

C. 

D. 

Answer:

Watch Video Solution

−7

−1

3

7

https://dl.doubtnut.com/l/_vaz5d7jkIwcr


68. Angle made by the line y = x with the

positive direction of X-axis is .......

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

30∘

60∘

90∘

45∘

https://dl.doubtnut.com/l/_34DmzMpN1Sz7
https://dl.doubtnut.com/l/_19ohCC8iR14U


69. The slope of the line 

A. 

B. 

C. 1

D. 

Answer:

Watch Video Solution

+ = 1
x

a

y

b

−
a

b

−
b

a

a

b

70. The line y= mx+c cut the Y-axis at the point

https://dl.doubtnut.com/l/_19ohCC8iR14U
https://dl.doubtnut.com/l/_fcN7W2nO2BD7


A. (0,0)

B. (0,c)

C. (c,0)

D. (0,m)

Answer:

Watch Video Solution

71. The distance of the point (a,b) from the

origin.

https://dl.doubtnut.com/l/_fcN7W2nO2BD7
https://dl.doubtnut.com/l/_CdRMPZQyiLr6


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√a + b

√a2 − b2

√a2 + b2

√a + √b

72. The centriod of the traingle made by the

vertices A(-2,3), B(4,1), C(1,2) is

https://dl.doubtnut.com/l/_CdRMPZQyiLr6
https://dl.doubtnut.com/l/_QeJkWE6k187m


A. (1,2)

B. 

C. (0,0)

D. 

Answer:

Watch Video Solution

( , 2)
3

2

( , 2)
7
3

73. The slope of the line is  then the slope of

the parallel of that line

2

5

https://dl.doubtnut.com/l/_QeJkWE6k187m
https://dl.doubtnut.com/l/_lQmtUwKXUrJJ


A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

5

2

2

5

−
5

2

74. If the line y = mx+c passing through the

points (0,3),(4,0) then intercept is

https://dl.doubtnut.com/l/_lQmtUwKXUrJJ
https://dl.doubtnut.com/l/_HppOx9euECOL


A. 4

B. 

C. 

D. 3

Answer:

Watch Video Solution

−3

−4

75. The line ax+by+c=0 intersects X-axis at

A. ( , 0)
c

a

https://dl.doubtnut.com/l/_HppOx9euECOL
https://dl.doubtnut.com/l/_7UwxBghTDNLx


B. 

C. (0,0)

D. 

Answer:

Watch Video Solution

(0, − )
c

b

( − , 0)
c

a

76. The line ax+by+c=0 intersects Y-axis at

A. 

B. 

(0, − )
c

b

( , 0)
c

b

https://dl.doubtnut.com/l/_7UwxBghTDNLx
https://dl.doubtnut.com/l/_0r89qGgQ0Kok


C. 

D. (0,-c)

Answer:

Watch Video Solution

( − , 0)
c

b

77. Distance between the points (0,0)

A. 2

B. 

(a cos θ, a sin θ)

a2

https://dl.doubtnut.com/l/_0r89qGgQ0Kok
https://dl.doubtnut.com/l/_dBid7V4YVyRZ


C. a

D. 

Answer:

Watch Video Solution

a2

2

78. If 'C' is the mid point of A(0,0) B(4,8). Then

the co-ordinates of the mid-points B and C is

A. (2,4)

B. (3,6)

https://dl.doubtnut.com/l/_dBid7V4YVyRZ
https://dl.doubtnut.com/l/_OUn3QQqzTxDc


C. (1,2)

D. (4,6)

Answer:

Watch Video Solution

79. The slope of the line  is

A. 0

B. 

C. 

y = x
1

2

1

2

−
1

2

https://dl.doubtnut.com/l/_OUn3QQqzTxDc
https://dl.doubtnut.com/l/_WwL5vnkfeqVt


D. 1

Answer:

Watch Video Solution

80. The equation of the X-axis is

A. y = 0

B. x = 0

C. x = y

D. xy= 0

https://dl.doubtnut.com/l/_WwL5vnkfeqVt
https://dl.doubtnut.com/l/_LpW6izNIStQo


Answer:

Watch Video Solution

81. The point of intersection of the lines x= 2

and y = 3 is

A. (2,3)

B. (3,0)

C. (0,2)

D. ( , 1)
4
3

https://dl.doubtnut.com/l/_LpW6izNIStQo
https://dl.doubtnut.com/l/_q41zDoEvaKec


Answer:

Watch Video Solution

82. If the line 3x+4y = k passing through the

point (4,2) then k

A. 10

B. 

C. 20

D. 

−20

−10

https://dl.doubtnut.com/l/_q41zDoEvaKec
https://dl.doubtnut.com/l/_8apxlnaGXipV


Answer:

Watch Video Solution

83. If the distance between two points (5,2)

(3,a) is  units then a

A. 

B. 2

C. 8

D. 4

√8

−2

https://dl.doubtnut.com/l/_8apxlnaGXipV
https://dl.doubtnut.com/l/_y19v1KQqqiaQ


Answer:

Watch Video Solution

84. The ratio in which the Y-axis dividing the

joining the points (5,7)(-1,3) is

A. 

B. 3:7`

C. 

D. 

5: 1

2: 1

4: 3

https://dl.doubtnut.com/l/_y19v1KQqqiaQ
https://dl.doubtnut.com/l/_rt0Jva8ZfjcA


Answer:

Watch Video Solution

85. The point on X-axis

A. (2,3)

B. (2,0)

C. (0,4)

D. (0,-3)

Answer:

https://dl.doubtnut.com/l/_rt0Jva8ZfjcA
https://dl.doubtnut.com/l/_Po5IImlEhsM2


Watch Video Solution

86. The point on Y-axis

A. (0,2)

B. (4,0)

C. (-3,4)

D. (2,-1)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Po5IImlEhsM2
https://dl.doubtnut.com/l/_Hr8Y3h6onmt4


87. The slope of the line x=0

A. 0

B. 1

C. 

D. 

Answer:

Watch Video Solution

∞

−1

https://dl.doubtnut.com/l/_Hr8Y3h6onmt4
https://dl.doubtnut.com/l/_Ts9FPveSLbHt


88. The point (4,-7) in…..quadrant

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Q1

Q2

Q3

Q4

https://dl.doubtnut.com/l/_3CBkeThOXYyb


89. Slope of the line ax+by+c=0 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−
a

b

a

b

−
b

a

b

a

https://dl.doubtnut.com/l/_N46O3tz6WxXq


90. The line y = 5 is

A. Parallel to x-axis

B. Parallel to y-axis

C. Perpendicular to x-axis

D. Perpendicular to y-axis

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_1FJ2PuBfTLxr


91. If the line 2x-3y=k passes through the origin

then the value of k

A. 

B. 0

C. 1

D. 

Answer:

Watch Video Solution

−1

−
1

2

https://dl.doubtnut.com/l/_WuLsGAsrDInJ
https://dl.doubtnut.com/l/_KqfBAPFRqT36


92. The centriod of the traingle made by the

vertices A(-2,3), B(4,1), C(1,2) is

A. (1,2)

B. 

C. (0,0)

D. 

Answer:

Watch Video Solution

[ , 2]
3

2

[ , 2]
7
3

https://dl.doubtnut.com/l/_KqfBAPFRqT36


93. Area of the triangle by the points A(0, 0),

B(1, 0) and C(0, 1) is ……… sq. units ………..

A. 0

B. 

C. 1

D. 

Answer:

Watch Video Solution

1

2

1

4

https://dl.doubtnut.com/l/_qgZ5n6IshIpy
https://dl.doubtnut.com/l/_5QbpSvLsNIsU


94. Where do these following points lie ( - 4 ,

0) , (2 , 0) , ( 6 , 0) , ( - 8,0) on coordi- nate plane

? 

A. 

B. x-axis

C. y-axis

D. 

Answer:

Watch Video Solution

(AS3)

Q1

Q4

https://dl.doubtnut.com/l/_5QbpSvLsNIsU
https://dl.doubtnut.com/l/_lMwNX9S6Xkct


95. The distance between (0, 0),  points

is ……….. units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(x1, y1)

√x2
1 + y2

1

√x1 + y1

√x2 + y2

√x + y

https://dl.doubtnut.com/l/_lMwNX9S6Xkct


96. The distance between the points 

and  which are on the line parallel to y-

axis is ……….

A.  or 

B.  or 

C. 

D.  or 

Answer:

Watch Video Solution

(x1, y1)

(x2, y2)

|y1 − y2| |y2 − y1|

∣∣y2
2 − y2

1
∣∣ ∣∣y2

1 − y2
2
∣∣

√(x2 − x2
1) + (y2 − y2

1)

|x2 − x1| |x1 − x2|

https://dl.doubtnut.com/l/_l4NeKFAjQorI


97. The mid point of line segment joined by (4,

5) and  is ……..

A. (1,4)

B. (-1,4)

C. (1,-4)

D. (-1,-4)

Answer:

Watch Video Solution

( − 6, 3)

https://dl.doubtnut.com/l/_8seFbo5Y7jVD
https://dl.doubtnut.com/l/_16JSjvyVDoYJ


98. The distance to X-axis from the point (3, -4)

is ……..

A. 3

B. 4

C. 5

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_16JSjvyVDoYJ


99. If the mid point of (-4, a) and (2, 8) is (-1, 5)

then a = …….

A. 

B. 2

C. 5

D. 8

Answer:

Watch Video Solution

−4

https://dl.doubtnut.com/l/_60ZRQpQAVXL9
https://dl.doubtnut.com/l/_A6EGzc3C6wvr


100. The graph of  is …….

A. Parallel to x-axis

B. Perpendicular to X-axis

C. Parallel to Y-axis

D. Perpendicular to y-axis

Answer:

Watch Video Solution

y = 5

101. The distance between (0,7) and (-7,0) is….

https://dl.doubtnut.com/l/_A6EGzc3C6wvr
https://dl.doubtnut.com/l/_YqsdbHp0COx9


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2√7

7√2

√14

+1

102. Slope of Y-axis is .....

A. not defined

https://dl.doubtnut.com/l/_YqsdbHp0COx9
https://dl.doubtnut.com/l/_ZmNEOdpOPf2s


B. 0

C. well defined

D. finite

Answer:

Watch Video Solution

103. The distance from X-axis to (-4,3) is….units.

A. 2

B. 3

https://dl.doubtnut.com/l/_ZmNEOdpOPf2s
https://dl.doubtnut.com/l/_BsgMo8lesnto


C. 

D. 

Answer:

Watch Video Solution

−4

−1

104. The distance from origin to (2, 3) is

……..units

A. 

B. 

√6

√5

https://dl.doubtnut.com/l/_BsgMo8lesnto
https://dl.doubtnut.com/l/_iMXjFj7davV3


C. 

D. 

Answer:

Watch Video Solution

√1

√13

105. The distance from Y- axis to (4, 0) is ……..

units.

A. 4 units

B.  units√16

https://dl.doubtnut.com/l/_iMXjFj7davV3
https://dl.doubtnut.com/l/_zM7OW1D8SpPR


C. 16 units

D.  units

Answer:

Watch Video Solution

2√2

106. The mid point of (2, 3) and  is …….

A. (0,3)

B. (-2,0)

C. (3,0)

( − 2, 3)

https://dl.doubtnut.com/l/_zM7OW1D8SpPR
https://dl.doubtnut.com/l/_4jfvHflteN7i


D. (-3,2)

Answer:

Watch Video Solution

107. The centroid of the triangle formed by (0,

3), (3, 0) and (0, 0) is …….

A. (1,1)

B. (0,3)

C. (3,3)

https://dl.doubtnut.com/l/_4jfvHflteN7i
https://dl.doubtnut.com/l/_vSrkBrqcM1IB


D. (3,0)

Answer:

Watch Video Solution

108. Slope of the line that passes through the

points  and  and making

an angle  with X-axis is

Watch Video Solution

P (x1, y1) Q(X2, y2)

θ

https://dl.doubtnut.com/l/_vSrkBrqcM1IB
https://dl.doubtnut.com/l/_pDjBZOE24Hub


109. Slope of the line passing through the

points ( - 1 , 1) and ( 1 , 1) is ......

A. 

B. 0

C. 1

D. not defined

Answer:

Watch Video Solution

−1

https://dl.doubtnut.com/l/_QzEsmqjstup5
https://dl.doubtnut.com/l/_XtebG9gWCd2b


110. A point on the Y-axis is of form

A. (0,y)

B. (x,0)

C. (x,y)

D. (y,y)

Answer:

Watch Video Solution

111. A point of the X-axis is of the form

https://dl.doubtnut.com/l/_XtebG9gWCd2b
https://dl.doubtnut.com/l/_8Y0fP0vxyhBz


A. (0,y)

B. (x,0)

C. (x,y)

D. (x,x)

Answer:

Watch Video Solution

112. The distance of the point (- 8 , 3) from the

origin is ....

https://dl.doubtnut.com/l/_8Y0fP0vxyhBz
https://dl.doubtnut.com/l/_GHhyZTkUKAFU


A. 5

B. 55

C. 73

D. 24

Answer:

Watch Video Solution

113. The distance of the point (- 4 , 3) from X-

axis is ....

https://dl.doubtnut.com/l/_GHhyZTkUKAFU
https://dl.doubtnut.com/l/_wFoQIPTlEsQu


A. 

B. 

C. 4

D. 3

Answer:

Watch Video Solution

−4

−3

114. The distance of the point ( - 8 , - 7) from y-

axis is .....

https://dl.doubtnut.com/l/_wFoQIPTlEsQu
https://dl.doubtnut.com/l/_5gaHW6j5osxU


A. 8

B. 

C. 

D. 7

Answer:

Watch Video Solution

−7

−8

115. The points ( - 3 , 0) , ( 0 , 5) and (3 , 0) are

the vertices of a .....triangle .

https://dl.doubtnut.com/l/_5gaHW6j5osxU
https://dl.doubtnut.com/l/_NyHJXcbRH4Im


A. scalene

B. isosceles

C. equilateral

D. right angled

Answer:

Watch Video Solution

116. The distance between the points ( - 2 , 3)

and (2 , - 3) is ......

https://dl.doubtnut.com/l/_NyHJXcbRH4Im
https://dl.doubtnut.com/l/_LhNvWbzx0A7g


A. 0

B. 52

C. 

D. 16

Answer:

Watch Video Solution

√52

117. If the distance between the points ( 4 , y)

and (1 , 0) is 5 then y =

https://dl.doubtnut.com/l/_LhNvWbzx0A7g
https://dl.doubtnut.com/l/_HYHd3NR4lj8F


A. 0

B. 4

C. 

D. 

Answer:

Watch Video Solution

±4

±2

118. The distance between the points (0 , 7)

and (-7 , 0) is .....

https://dl.doubtnut.com/l/_HYHd3NR4lj8F
https://dl.doubtnut.com/l/_phMJ921IGEcQ


A. 

B. 49

C. 

D. 

Answer:

Watch Video Solution

√14

2√7

7√2

119. A circle is draw with origin as centre and

passing through ( 2 , 3) , then its radius is ...

https://dl.doubtnut.com/l/_phMJ921IGEcQ
https://dl.doubtnut.com/l/_FkYLMa6ODDls


A. 2

B. 3

C. 13

D. 

Answer:

Watch Video Solution

√13

120. The area of the triangle formed by ( a , b +

c ) , (b , c +a) and ( c , a + b) is

https://dl.doubtnut.com/l/_FkYLMa6ODDls
https://dl.doubtnut.com/l/_XhqsqtGTACRt


A. 2(a+b+c)

B. abc

C. 0

D. a+b+c

Answer:

Watch Video Solution

121. If points ( x , 0) , ( 0 , y) and ( 1 , 1) are

collinear, then  = .......+
1

x

1

y

https://dl.doubtnut.com/l/_XhqsqtGTACRt
https://dl.doubtnut.com/l/_emZnynPLNwD8


A. 1

B. 

C. 0

D. 2

Answer:

Watch Video Solution

−1

122. The point which divides the line segment

joining the points ( 7, -6) and ( 3 , 4) internally

in the ratio 1 : 2 lies in the ......quadrant .

https://dl.doubtnut.com/l/_emZnynPLNwD8
https://dl.doubtnut.com/l/_RuUMCYXI5C8u


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Q1

Q2

Q3

Q4

123. The points (a , 2a) , (3a , 3a) and (3 , 1) are

collinear, then k = ......

https://dl.doubtnut.com/l/_RuUMCYXI5C8u
https://dl.doubtnut.com/l/_2IiufEDRhlY2


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−
1

4

1

3

−
2

3

−
1

3

124. A circle drawn with origin as centre passes

through  . The point which doesn't lie( , 0)
13

2

https://dl.doubtnut.com/l/_2IiufEDRhlY2
https://dl.doubtnut.com/l/_gXNeQvOfetSx


in the interior of the circle is .......

A. (-6,3)

B. 

C. 

D. 

Answer:

Watch Video Solution

(5, )
1

2

(2, )
7
3

( − , 1)
3

4

https://dl.doubtnut.com/l/_gXNeQvOfetSx


125. The distance of the point ( - 9 , 40) from

the origin is .....

A. 9

B. 40

C. 53

D. 41

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wGZHjyOy1Zca
https://dl.doubtnut.com/l/_MJ1ZMy1TjGVl


126. If ( - 2 , 8) and (6 , - 4) are the end points of

the diameter of a circle, then the centre of the

circle is .....

A. (3,6)

B. (4,2)

C. (2,2)

D. (-3,2)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MJ1ZMy1TjGVl
https://dl.doubtnut.com/l/_ctpd2mRqBeU4


127. The angle between X-axis and Y-axis is ......

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0∘

180∘

360∘

90∘

https://dl.doubtnut.com/l/_ctpd2mRqBeU4


128. The midpoint of the line joining of ( 2 , 3)

and ( - 2 , - 3) is .....

A. (0,0)

B. (2,3)

C. 

D. 

Answer:

Watch Video Solution

(1, 1 )
1

2

( − 1, − 1 )
1

2

https://dl.doubtnut.com/l/_FLqquYXPXQ8g
https://dl.doubtnut.com/l/_ndn5YA0Tjb5i


129. The slope of line join of (5 , -1) , (0 , 8) is .....

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

7
5

9

5

−
9

5

−
5

9

130. Slope of X-axis is .....

https://dl.doubtnut.com/l/_ndn5YA0Tjb5i
https://dl.doubtnut.com/l/_fNw9y6cgEzRN


A. 0

B. 1

C. `-1

D. not defined

Answer:

Watch Video Solution

131. The centroid of the triangle whose vertices

are (2 , - 3) , ( 4 , 6) , (- 2 , 8) is

https://dl.doubtnut.com/l/_fNw9y6cgEzRN
https://dl.doubtnut.com/l/_btnoSInfGiui


A. 

B. (4,11)

C. (-3,-8)

D. 

Answer:

Watch Video Solution

( , )
8

3
17
3

( , )
4
3

11

3

132. Two vertices of a triangle are (3 , 5) and ( -

4 , -5) . If the centroid of the triangle is (4 , 3),

find the third vertex.

https://dl.doubtnut.com/l/_btnoSInfGiui
https://dl.doubtnut.com/l/_1tslunZe3Sq8


A. (13,9)

B. (-9,-13)

C. (9,13)

D. (13,-9)

Answer:

Watch Video Solution

133. The ratio in which the point ( 4 , 8) divide

the line segment joining the points (8 , 6) and

(0 , 10) is ......

https://dl.doubtnut.com/l/_1tslunZe3Sq8
https://dl.doubtnut.com/l/_CjWuDn1xEgPu


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2: 1

1: 1

1: 2

3: 1

134. If (-2 , -1) , (a , 0) , (4 , b) and (1 , 2) are the

vertices of a parallelogram then a = ....

https://dl.doubtnut.com/l/_CjWuDn1xEgPu
https://dl.doubtnut.com/l/_1HbVYwpzl7e0


A. 3

B. 

C. 4

D. 1

Answer:

Watch Video Solution

−1

135.  ………..

A. 

( − 2, 8) ∈

Q1

https://dl.doubtnut.com/l/_1HbVYwpzl7e0
https://dl.doubtnut.com/l/_3Uv2Y6HQASAq


B. 

C. 

D. 

Answer:

Watch Video Solution

Q4

Q2

Q3

136. If A , B , C are collinear then area of

 = .....

A. 2

ΔABC

https://dl.doubtnut.com/l/_3Uv2Y6HQASAq
https://dl.doubtnut.com/l/_aAyLw9m4dUrp


B. 1

C. 0

D. none

Answer:

Watch Video Solution

137. Area of triangle formed by ( - 4 , 0) ,(0 , 0)

and (0 , 5) is ......sq.units.

A. 12

https://dl.doubtnut.com/l/_aAyLw9m4dUrp
https://dl.doubtnut.com/l/_y2tku8Z4a9bk


B. 10

C. 13

D. 9

Answer:

Watch Video Solution

138. The value of p if the distance between (2 ,

3) and (p, 3) is 5 is ......

A. 7

https://dl.doubtnut.com/l/_y2tku8Z4a9bk
https://dl.doubtnut.com/l/_VWqZ7ZKFquYz


B. 9

C. 12

D. 10

Answer:

Watch Video Solution

139. The value of k if the distance between (2 ,

8) and (2 , k) is 3 is ......

A. 4.5

https://dl.doubtnut.com/l/_VWqZ7ZKFquYz
https://dl.doubtnut.com/l/_J6lQtVGZ1Njr


B. 10

C. 9

D. 5

Answer:

Watch Video Solution

140. A(0 , - 1) , B(2 , 1) and C(0 , 3) are the

vertices of  then median through B has

a length .......units.

ΔABC

https://dl.doubtnut.com/l/_J6lQtVGZ1Njr
https://dl.doubtnut.com/l/_ObE0qcAPs0Py


A. 9.5

B. 10

C. 2

D. 9

Answer:

Watch Video Solution

141. The closed figure formed by the points (-2 ,

0) , (2 , 0) , (2 , 2) , (0 , 4) and (-2, -2) is a ......

https://dl.doubtnut.com/l/_ObE0qcAPs0Py
https://dl.doubtnut.com/l/_rquG5xuTDEIp


A. pentagon

B. triangle

C. circle

D. none

Answer:

Watch Video Solution

142. The co-ordinates of the mid points joining

 and  is….P (x1, y1) Q(x2, y2)

https://dl.doubtnut.com/l/_rquG5xuTDEIp
https://dl.doubtnut.com/l/_zXHyffwiZEla


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

( , )
x1 + x2

2

y1 + y2

2

( , )
x1 − x2

2

y1 + y2

2

( , 1)
x1 + y1

2

143. What do you observe ? Justify the point

that divides each median in the ratio 2 : 1 is

the centriod of a traingle . (AS3)

https://dl.doubtnut.com/l/_zXHyffwiZEla
https://dl.doubtnut.com/l/_biKFaGeIjT1u


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3: 1

1: 3

1: 2

2: 1

144. If the distance between the points (3 , k)

and (4 , 1) is  then the value of k = .....√10

https://dl.doubtnut.com/l/_biKFaGeIjT1u
https://dl.doubtnut.com/l/_XxRmSFcyS3W2


A. 8 or 10

B. 4 or -2

C.  or 2

D. none

Answer:

Watch Video Solution

−1

145. If the points (1 , 2) , (-1, x) and (2 , 3) are

collinear then the value of x is .....

https://dl.doubtnut.com/l/_XxRmSFcyS3W2
https://dl.doubtnut.com/l/_ICmlHscqOr4U


A. 9

B. 7

C. 0

D. 

Answer:

Watch Video Solution

−1

146. If the centroid of the triangle formed with

(a , b) , (b , c) and (c , a) is O(0 , 0) then

 .....a3 + b3 + c3 =

https://dl.doubtnut.com/l/_ICmlHscqOr4U
https://dl.doubtnut.com/l/_HEjwxR6oqQv2


A. a+b+c

B. 

C. 

D. 3abc

Answer:

Watch Video Solution

a + b + c

3

abc

3

147. The distance between two points A ( cos 

0 ) , B ( 0 , a sin ) is ....

θ

θ

https://dl.doubtnut.com/l/_HEjwxR6oqQv2
https://dl.doubtnut.com/l/_kkeFqR4qJV3z


A. 

B. a

C. 

D. 

Answer:

Watch Video Solution

a

3

a2

a

2

148. Distance of (x , y) from X-axis is ......

A. y

https://dl.doubtnut.com/l/_kkeFqR4qJV3z
https://dl.doubtnut.com/l/_iRsIPhWeiDqS


B. 

C. 

D. none

Answer:

Watch Video Solution

−x

−y

149. Distance of (x , y) from Y -axis is .....

A. 

B. y

−x

https://dl.doubtnut.com/l/_iRsIPhWeiDqS
https://dl.doubtnut.com/l/_CF2Z4bVmdc14


C. x

D. none

Answer:

Watch Video Solution

150. (x , 0) is a point on ......

A. X-axis

B. Y-axis

C. origin

https://dl.doubtnut.com/l/_CF2Z4bVmdc14
https://dl.doubtnut.com/l/_yqxmrgnddNfS


D. none

Answer:

Watch Video Solution

151. (0 , y) is a point on .....

A. (0,0)

B. Y-axis

C. X-axis

D. none

https://dl.doubtnut.com/l/_yqxmrgnddNfS
https://dl.doubtnut.com/l/_ch6pKXG7ygRs


Answer:

Watch Video Solution

152. Distance of (x , y) from origin is ......

A. 

B. 

C. 

D. 

Answer:

√x + √y

√x + y

√xy

√x2 + y2

https://dl.doubtnut.com/l/_ch6pKXG7ygRs
https://dl.doubtnut.com/l/_2ZJcY34ZBixZ


Watch Video Solution

153. If  then  ......

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a < 0 ( − a, − a) ∈

Q2

Q1

Q4

Q3

https://dl.doubtnut.com/l/_2ZJcY34ZBixZ
https://dl.doubtnut.com/l/_4evIFVlQADau


154. Slope of the line y = mx is .....

A. y

B. x

C. m

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_4evIFVlQADau
https://dl.doubtnut.com/l/_Zo9Q32ZcmDry


155. Slope of the line joining the points (2a, 3b)

and (a , = b) is ......

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−
a

b

b

a

a
b

4

4
b

a

https://dl.doubtnut.com/l/_SrDg99SYv7CY
https://dl.doubtnut.com/l/_dIjKiKBEdvZ3


156. Slope of the line joining the points A(-1 .4,

- 3.7) and B(-2.4,1.3) is ....

A. 

B. 5

C. 6

D. 7

Answer:

Watch Video Solution

−5

https://dl.doubtnut.com/l/_dIjKiKBEdvZ3


157. (3 , -5)  .......

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∈

Q4

Q3

Q1

Q2

https://dl.doubtnut.com/l/_Vl5nGMtSszRH


158. The angle between the lines x = 2 and y = 3

is .....

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

70∘

90∘

80∘

https://dl.doubtnut.com/l/_MVaxzRw2jP5A
https://dl.doubtnut.com/l/_vJ1a2vzy4Jrw


159. Slope of vertical line is ........

A. 0

B. 

C. 3

D. not defined

Answer:

Watch Video Solution

−1

https://dl.doubtnut.com/l/_vJ1a2vzy4Jrw


160. Area of triangle formed with (-5,-1), (3,-5)

and (5 , 2) is ......sq.units.

A. 28

B. 20

C. 32

D. 16

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SUJfFUYI8Lwu
https://dl.doubtnut.com/l/_wpHsX0W0sS2F


161. If the points (k,k),(2 , 3) and (4 , -1) are

collinear then k = ........

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−
1

7

1

2

3

7

7
3

https://dl.doubtnut.com/l/_wpHsX0W0sS2F


162. B(1,2) C(-1,6)` లు శీర్షా లుగా గల

త్రి భుజ వైశాల్యం

A. 10

B. 12

C. 0

D. 9

Answer:

Watch Video Solution

A(2, 0), ,

https://dl.doubtnut.com/l/_84ySKkypt2jC
https://dl.doubtnut.com/l/_odI8Q6DguUSR


163. Identify collinear points .

A. (1,-6)(3,-4),(4,-3)

B. (1,-1)(2,3),(2,0)

C. (5,2),(3,-5),(-5,-1)

D. all

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_odI8Q6DguUSR


164. The area of square formed with the

vertices (0, -1) ,(2 , 1) , (0 , 3) and (-2 , 1) taken in

order as vertices is .....sq.units.

A. 12

B. 6

C. 8

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_1kK9bRAMaJae


165. The co-ordinates of centroid of the

triangle formed with the vertices (-1,3),(6,-3)

and (-3,6) is…..

A. 

B. 

C. 

D. (0,3)

Answer:

Watch Video Solution

(1, )
1

2

( , 2)
2

3

(8, − )
1

2

https://dl.doubtnut.com/l/_hEDAl8piiTsz


166. A(1 , - 1) , B(0 , 6) and C(-3, 0) then G = ......

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( , )
8

9

1

7

( , )
6

7

1

3

( , )
1

2

1

3

( − , )
2

3

5

3

https://dl.doubtnut.com/l/_jWwuU5f8g43P


167. The point of concurrence of medians of a

triangle is called.....

A. centroid

B. orthocentre

C. centre

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_02wlgxL19ZAK
https://dl.doubtnut.com/l/_4vy3QxIN2e7Q


168. Mid point of the line joining the points (1 ,

1) and (0 , 0) is .....

A. (0,9)

B. 

C. 

D. 

Answer:

Watch Video Solution

(3, 7)

( , )
1

2

1

2

(1, )
1

2

https://dl.doubtnut.com/l/_4vy3QxIN2e7Q


169. The radius of the circle whose centre is (3 ,

2) and passes through (-5 , 6) is .......units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2√5

4√7

4√3

4√5

https://dl.doubtnut.com/l/_WNuq59O9FDGP
https://dl.doubtnut.com/l/_XQ8H8G1IwEkp


170. Area of parallelogram = ......sq.units.

A. 

B. bh

C. 

D. none

Answer:

Watch Video Solution

bh
1

2

b2h2

171. A(4 , 5) , B(7 , 6) then AB = ......units.

https://dl.doubtnut.com/l/_XQ8H8G1IwEkp
https://dl.doubtnut.com/l/_H4GPNK3sWj6B


A. 

B. 10

C. 8

D. 

Answer:

Watch Video Solution

√10

√19

172. In quadrilateral ABCD, 

AB = BC = CD = AD and  then it is a

.....

AC ≠ BD

https://dl.doubtnut.com/l/_H4GPNK3sWj6B
https://dl.doubtnut.com/l/_8vTsNvCoIZoc


A. trapezium

B. square

C. parallelogram

D. none

Answer:

Watch Video Solution

173. A(a , b) and B(-a, - b) then BA = .......units.

A. 2√a

https://dl.doubtnut.com/l/_8vTsNvCoIZoc
https://dl.doubtnut.com/l/_0N5uBDHWuauf


B. 

C. 

D. 

Answer:

Watch Video Solution

2√a2 + b2

2√b

2√a2 + b

174. If  is the angle made by a line with x-axis

then slope m = ......

A. 

θ

tan θ

https://dl.doubtnut.com/l/_0N5uBDHWuauf
https://dl.doubtnut.com/l/_8mewWaXHRs8h


B. 

C. 

D. 

Answer:

Watch Video Solution

sec θ

cos ecθ

no ≠ θ

175. A(4 , 0) , B( 8 , 0) then AB = ......units.

A. 6

B. 10

https://dl.doubtnut.com/l/_8mewWaXHRs8h
https://dl.doubtnut.com/l/_3Y5MFoMYXQtE


C. 4

D. 12

Answer:

Watch Video Solution

176. Other name for x-coordinate of a point is

....

A. abscissa

B. point

https://dl.doubtnut.com/l/_3Y5MFoMYXQtE
https://dl.doubtnut.com/l/_11xSPUi9eGye


C. ordinate

D. none

Answer:

Watch Video Solution

177. …..

A. 

B. 

C. 

(8, 10) ∈

Q2

Q1

Q3

https://dl.doubtnut.com/l/_11xSPUi9eGye
https://dl.doubtnut.com/l/_N79IKKNZu9YA


D. none

Answer:

Watch Video Solution

178. Slope of horizontal line is ......

A. 3

B. 

C. 0

D. none

−1

https://dl.doubtnut.com/l/_N79IKKNZu9YA
https://dl.doubtnut.com/l/_SDcHGpFwQUAM


Answer:

Watch Video Solution

179.  represents a ……….

A. straight line

B. circle

C. curve

D. none

Answer:

ax + by + c = 0

https://dl.doubtnut.com/l/_SDcHGpFwQUAM
https://dl.doubtnut.com/l/_N3oPhGrAYhMP


Watch Video Solution

180. In Heron's formula S = .......

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a − b − c

2

a + b − c

2

+ c
ab

2

a + b + c

2

https://dl.doubtnut.com/l/_N3oPhGrAYhMP
https://dl.doubtnut.com/l/_xay8SJll8eTz


181. Coordinates of origin are ........

A. (a,b)

B. (3,7)

C. (0,0)

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xay8SJll8eTz
https://dl.doubtnut.com/l/_F3KfxyHzo76u


182. A( 4 , 3) , B(8 , 6) then AB = ......units.

A. 9

B. 5

C. 16

D. 12

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eubSyfgRW41c


183. =….

A. 

B. {0}

C. {8,4}

D. none

Answer:

Watch Video Solution

Q1 ∩ Q2

ϕ

https://dl.doubtnut.com/l/_87axrjkeoHBS


184. The slope of the line 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

+ = 1
x

a

y

b

−
b

a

b

a

a

b

https://dl.doubtnut.com/l/_EPFfffd3Bwa2


185. The midpoint of the line joining the points

( 1 , 2) and ( 1 , p) is ( 1 , -1) then p = .......

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

−31

−3

−4

https://dl.doubtnut.com/l/_04ouFU5yWF6l
https://dl.doubtnut.com/l/_NGjCASmKazdl


186. The centroid of the triangle formed with

the line x + y = 6 with the coordinate axes is .....

A. (4,0)

B. (1,3)

C. (8,1)

D. (2,2)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NGjCASmKazdl


187. Slope of the line joining the points ( 2 , 5)

and (k , 3) is 2 then k = .......

A. 4

B. 

C. 

D. none

Answer:

Watch Video Solution

−1

https://dl.doubtnut.com/l/_hYOi8gBLCnAo
https://dl.doubtnut.com/l/_WEHw9FkWjQPi


188. A point on X - axis is .......

A. (9,0)

B. (0,3)

C. (9,3)

D. (3,-1)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_WEHw9FkWjQPi


189. The slope of a line passing through ( - 2 ,

3) and ( 4 , a) is  then a = .......

A. 1

B. 7

C. 

D. 2

Answer:

Watch Video Solution

−5

3

−7

https://dl.doubtnut.com/l/_Z2elT2rulFQp
https://dl.doubtnut.com/l/_Ag39Nvihp9Y7


190. If (1 , x) is at  units from origin then

the value of x = .....

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√10

±31

±3

±2

±2

https://dl.doubtnut.com/l/_Ag39Nvihp9Y7


191.  then BA = .....

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

A = ( , ), B( , )
1

2

3

2

3

2

−1

2

√5

√6

√19

https://dl.doubtnut.com/l/_VkTIYPwr27Hc


192. X and Y axes will intersect at .....

A. (1,1)

B. (2,2)

C. (0,0)

D. (8,5)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_jtVJSfubJ333


193. In , AB =AC =BC then it is

……….triangle .

A. scalene

B. equilateral

C. isosceles

D. none

Answer:

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_NGPbPIw8X3jv
https://dl.doubtnut.com/l/_hT97Jwi1lWGN


194. Y axis can be represented by ......

A. x = 0

B. y = 0

C. 

D. all

Answer:

Watch Video Solution

y = −
1

2

195. y intercept of the line x - 2y + 1 = 0 is .......

https://dl.doubtnut.com/l/_hT97Jwi1lWGN
https://dl.doubtnut.com/l/_RUzISOAjZQ0Q


A. 

B. 1

C. 

D. 

Answer:

Watch Video Solution

−
1

2

−1

1

2

196. equation of X - axis is .......

A. x= 0

https://dl.doubtnut.com/l/_RUzISOAjZQ0Q
https://dl.doubtnut.com/l/_noDZm4RCX8Dp


B. x= 7

C. x= 1

D. y = 0

Answer:

Watch Video Solution

197. If (p, 2p) , (2p, 3p) and ( 3 , 1) are collinear

then p = ........

A. 
1

3

https://dl.doubtnut.com/l/_noDZm4RCX8Dp
https://dl.doubtnut.com/l/_87ZEwq8Qz0pV


B. 

C. 

D. none

Answer:

Watch Video Solution

−1

−
1

3

198. In , all the sides are diferent then

it is called ......triangle .

A. isosceles

ΔABC

https://dl.doubtnut.com/l/_87ZEwq8Qz0pV
https://dl.doubtnut.com/l/_dAamFmfbBXwA


B. scalene

C. equilateral

D. none

Answer:

Watch Video Solution

199. In  then it is called

.......triangle .

A. isosceles

ΔPQR, PQ = QR

https://dl.doubtnut.com/l/_dAamFmfbBXwA
https://dl.doubtnut.com/l/_UqrwMXfIl6jg


B. right triangle

C. equilateral

D. none

Answer:

Watch Video Solution

200. A ( 1, - 1) ,  , C (4 , 1) then area

of  = ........sq. units.

A. 2

B(21 / 2, 0)

ΔABC

https://dl.doubtnut.com/l/_UqrwMXfIl6jg
https://dl.doubtnut.com/l/_ZngB2QdthiKm


B. 9

C. 0

D. none

Answer:

Watch Video Solution

201. The point of concurrence of attitudes of a

triangle is called its........

A. orthocentre

https://dl.doubtnut.com/l/_ZngB2QdthiKm
https://dl.doubtnut.com/l/_gEEzpiziUslz


B. centroid

C. isosceles

D. none

Answer:

Watch Video Solution

202. Angle made by the line y = x with the

positive direction of X-axis is .......

A. 45∘

https://dl.doubtnut.com/l/_gEEzpiziUslz
https://dl.doubtnut.com/l/_XmBVSSi4rktb


B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

90∘

70∘

203. Number of medians of triangle is .......

A. 5

B. 4

https://dl.doubtnut.com/l/_XmBVSSi4rktb
https://dl.doubtnut.com/l/_NOOUJICjQrUT


C. 7

D. 3

Answer:

Watch Video Solution

204. Slope of line y = 7 is ......

A. 1

B. 7

C. 0

https://dl.doubtnut.com/l/_NOOUJICjQrUT
https://dl.doubtnut.com/l/_1KYSrxx42U0i


D. none

Answer:

Watch Video Solution

205. If A (p , q) , B (m , n) and C ( p - m , q - n )

are collinear then pn = ......

A. 

B. qm

C. 

q2m

q

m

https://dl.doubtnut.com/l/_1KYSrxx42U0i
https://dl.doubtnut.com/l/_4TYurezAUrTG


D. none

Answer:

Watch Video Solution

206. If 4x + y =1 and 3x - 2y = 9
 In the problem

y=….

A. 3

B. 7

C. −3

https://dl.doubtnut.com/l/_4TYurezAUrTG
https://dl.doubtnut.com/l/_03b6juM2GU7g


D. 8

Answer:

Watch Video Solution

207. Area of trapezium = ...... Sq.units.

A. ph

B. h(a+b)

C. 

D. 

h(a + b)
1

2

(a + b)
1

2

https://dl.doubtnut.com/l/_03b6juM2GU7g
https://dl.doubtnut.com/l/_16h8sDoccfAZ


Answer:

Watch Video Solution

208. P (cos , - cos ) , Q( sin  , sin ) then PQ =

......

A. 

B. 

C. 0

D. none

θ θ θ θ

cos θ

sin2 θ

https://dl.doubtnut.com/l/_16h8sDoccfAZ
https://dl.doubtnut.com/l/_mc84DqEFJO3f


Answer:

Watch Video Solution

209. A(t , 2t) , B( - 2, 6) , C(3 , 1) and  ABC = 5

sq.units then t = ........

A. 9

B. 4

C. 

D. 2

Δ

−9

https://dl.doubtnut.com/l/_mc84DqEFJO3f
https://dl.doubtnut.com/l/_4fEWiW6mKidA


Answer:

Watch Video Solution

210. The diagonals of a parallelogram whose

vertices are ( 2 , 3) , (4 , 5) , ( 4 , 9) and (2 , 7)

will intersect at ......

A. (0,0)

B. (5,6)

C. (0,9)

D. (3,6)

https://dl.doubtnut.com/l/_4fEWiW6mKidA
https://dl.doubtnut.com/l/_YXUGopJQehKb


Answer:

Watch Video Solution

211. Slope of the line 3x - 2 = 0 is ..........

A. 2

B. 3

C. 0

D. not defined

Answer:

https://dl.doubtnut.com/l/_YXUGopJQehKb
https://dl.doubtnut.com/l/_qE8G1R8eEXz3


Watch Video Solution

212. Each angle of an equilateral triangle

is…………

A. 

B. 

C. 

D. 

Answer:

100∘

70∘

60∘

90∘

https://dl.doubtnut.com/l/_qE8G1R8eEXz3
https://dl.doubtnut.com/l/_kKGBeKxsc2Ec


Watch Video Solution

213. A(cot  1 ,) , B(0 , 0) then BA = ......

A. 5

B. 4

C. 1

D. none

Answer:

Watch Video Solution

θ

https://dl.doubtnut.com/l/_kKGBeKxsc2Ec
https://dl.doubtnut.com/l/_pwA5VeDe1JNv
https://dl.doubtnut.com/l/_aCXfsFsnryh4


214. Slope of the line joining the points A(0 , 0)

, B  is .........

A. 4

B. 1

C. 3

D. 7

Answer:

Watch Video Solution

( , )
1

2

1

2

https://dl.doubtnut.com/l/_aCXfsFsnryh4
https://dl.doubtnut.com/l/_SZdg1FopwTaN


215. (3 ,0) ,(8,0) ,  ...... Points lie on ......

A. X-axis

B. Y-axis

C. (0,0)

D. none

Answer:

Watch Video Solution

( , 0)
1

2

216. (x, y)  then ......∈ Q4

https://dl.doubtnut.com/l/_SZdg1FopwTaN
https://dl.doubtnut.com/l/_p6tkF3ErStP8


A. x= 0, y = 0

B. xlt0,ygt0

C. xgt0,ygt0

D. none

Answer:

Watch Video Solution

217. y intercept of the line y = mx + c is .......

A. y

https://dl.doubtnut.com/l/_p6tkF3ErStP8
https://dl.doubtnut.com/l/_tbzb3Axq5HBP


B. m

C. 1

D. none

Answer:

Watch Video Solution

218. The midpoint of line segment divides it in

ratio

A. 1: 1

https://dl.doubtnut.com/l/_tbzb3Axq5HBP
https://dl.doubtnut.com/l/_UNfHZ0p3uaEM


B. 

C. 

D. 

Answer:

Watch Video Solution

2: 1

1: 2

1: 4

219. Diagonals in a parallelgram

A. equal

B. trisect

https://dl.doubtnut.com/l/_UNfHZ0p3uaEM
https://dl.doubtnut.com/l/_D88s0sGQ7Mlz


C. bisect

D. none

Answer:

Watch Video Solution

220. The line joining the mid point of one side

of a triangle from opposite vertex in called ......

A. ortho centre

B. median

https://dl.doubtnut.com/l/_D88s0sGQ7Mlz
https://dl.doubtnut.com/l/_PK203tJXyffm


C. centroid

D. none

Answer:

Watch Video Solution

221. x intercept of the line x - y + 1 = 0 is ......

A. 1

B. 2

C. 7

https://dl.doubtnut.com/l/_PK203tJXyffm
https://dl.doubtnut.com/l/_EGqPxiDyJv90


D. 

Answer:

Watch Video Solution

−1

222. In rhombus all sides are .........

A. equal

B. not equal

C. 3 cm

D. 8 cm

https://dl.doubtnut.com/l/_EGqPxiDyJv90
https://dl.doubtnut.com/l/_3V2YV22GnKK6


Answer:

Watch Video Solution

223. If the point (4 , -p) lie on Y - axis then

 = ......

A. 0

B. 1

C. 

D. 4

p2 + 2p − 1

−1

https://dl.doubtnut.com/l/_3V2YV22GnKK6
https://dl.doubtnut.com/l/_rleSh7SS6mwC


Answer:

Watch Video Solution

224. If the point (a , 5) lies on Y-axis , the value

of a = .....

A. agt0

B. alt0

C. a = 0

D. none

https://dl.doubtnut.com/l/_rleSh7SS6mwC
https://dl.doubtnut.com/l/_sabIIY40bDYz


Answer:

Watch Video Solution

225. If the distance between the points

 and  is  then they

are parallel to .....

A. X-axis

B. XY-axis

C. XY-axis

D. Y-axis

(x1, y1) (x2, y2) |x1 − x2|

https://dl.doubtnut.com/l/_sabIIY40bDYz
https://dl.doubtnut.com/l/_eBkQQhkKCwWB


Answer:

Watch Video Solution

226. Show that the points (-2,-1),(1,0),(4,3) and

(1,2) are vertices of a parallelogram.

Watch Video Solution

227. Find the ratio in which the line segment

joining the points (-1,12) and (8,-6) is divided by

(1,8).

https://dl.doubtnut.com/l/_eBkQQhkKCwWB
https://dl.doubtnut.com/l/_asTXDBVV8GZq
https://dl.doubtnut.com/l/_BHWeubORxhAP


Watch Video Solution

228. Find the area of the quadrilateral whose

vertices taken inorder are ( - 4 , - 2) , ( - 3 , - 5) , (

3 , - 2) and ( 2 , 3) 

Watch Video Solution

(AS1)

229. If A(3,4),B(6,5) and C(8,8) are the three

vertices of a parallelogram ABCD. Find the co-

ordinates of the fourth vertex D.

https://dl.doubtnut.com/l/_BHWeubORxhAP
https://dl.doubtnut.com/l/_75nKNofj5xek
https://dl.doubtnut.com/l/_Riwf4ZYx1uVf


Watch Video Solution

230. P ( 2 , 2), Q ( - 4, 4) and R (5 , - 8) are the

vertices of a , then median from 'R' is

.....

A. 

B. 

C. 

D. 

Answer:

ΔPQR

√147

√157

4√17

2√13

https://dl.doubtnut.com/l/_Riwf4ZYx1uVf
https://dl.doubtnut.com/l/_SbGEubkztulR


Watch Video Solution

231. The distance of a point  from the

origin is ....

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(α, β)

α + β

α2 + β2

√α2 + β2

√α2 − β2

https://dl.doubtnut.com/l/_SbGEubkztulR
https://dl.doubtnut.com/l/_xihoXukFwpsy


232. The coordinates of the point which

divides the line joining  and 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(x1, y1) (x2, y2)

( , )
mx2 + nx1

m + n

my2 + ny1

m + n

(0, )
m

n

( , )
mx2

m + n

ny1

m + n

( , )
mx2 + nx1

m − n

my2 + ny1

m − n

https://dl.doubtnut.com/l/_xihoXukFwpsy
https://dl.doubtnut.com/l/_OK2L0YvecKTG


233. Coordinate geometry was introduced by

....

A. Rene Descartes

B. John Ven

C. Cayley

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OK2L0YvecKTG
https://dl.doubtnut.com/l/_AzekNnXJZK6r


234. Heron's formula to calculate area of

triangle is .....

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

√S(S − a)(S − b)

√S(S − a)(S − b)(S − c)

√S(S − a)(S − b)(S + c)

https://dl.doubtnut.com/l/_aWCdkDWU022u
https://dl.doubtnut.com/l/_aMfV217gFrDX


235. If AC = AB + BC then the points A , B , C are

.......

A. non collinear

B. collinear

C. can't be determined

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_aMfV217gFrDX


236. In the below figure G is the centroid then

AG:GD=…. 

A. 

B. 

C. 

1: 4

2: 3

1: 1

https://dl.doubtnut.com/l/_ATceM3H60KIk


D. 

Answer:

Watch Video Solution

2: 1

237. The area of below triangle is….sq.units.

A. 3

B. 8

https://dl.doubtnut.com/l/_ATceM3H60KIk
https://dl.doubtnut.com/l/_QQlDJLiaG3y8


C. 4

D. 6

Answer:

Watch Video Solution

238. In the below figure x=……

A. 1

B. −7

https://dl.doubtnut.com/l/_QQlDJLiaG3y8
https://dl.doubtnut.com/l/_n0DeFOmZctva


C. 3

D. 

Answer:

Watch Video Solution

−9

239. The area of below parallelogram is….

=5 sq.units.
△ ABC

https://dl.doubtnut.com/l/_n0DeFOmZctva
https://dl.doubtnut.com/l/_AnIcbWqOsoiP


A. 4

B. 3

C. 10

D. 9

Answer:

Watch Video Solution

240. AOBC is a rectangle whose three vertices

are A(4 , 0) , B (0 , 3) and O(0 , 0) , then its

diagonal is .....

https://dl.doubtnut.com/l/_AnIcbWqOsoiP
https://dl.doubtnut.com/l/_cbPJifUXxTZY


A. 4

B. 3

C. 5

D. 7

Answer:

Watch Video Solution

241. The perimetre of a triangle whose vertices

are A(12 , 0) , O(0 , 0) and B( 0 , 5 ) is ......

https://dl.doubtnut.com/l/_cbPJifUXxTZY
https://dl.doubtnut.com/l/_xoLItcfpMlFG


A. 13

B. 30

C. 34

D. 60

Answer:

Watch Video Solution

242. The distance of a point (0,3) from the

origin.

https://dl.doubtnut.com/l/_xoLItcfpMlFG
https://dl.doubtnut.com/l/_PaoS4PLkjvz8


Watch Video Solution

243. The distance between (0,3) from (0,0)

Watch Video Solution

244. Find the distance between (4,5)(5,6)

Watch Video Solution

245. y intercept 4 the line y = mx+c is

https://dl.doubtnut.com/l/_PaoS4PLkjvz8
https://dl.doubtnut.com/l/_XANDXwtll0XY
https://dl.doubtnut.com/l/_DIyb4ijXVNqD
https://dl.doubtnut.com/l/_GMS1WflMwGiD


Watch Video Solution

246. In rhombus all sides are .........

Watch Video Solution

https://dl.doubtnut.com/l/_GMS1WflMwGiD
https://dl.doubtnut.com/l/_T77s24YhG5rM

